Changes for the Better

ola =ZHEH

MITSUBISHI ELECTRIC
WL S

FENTRAY R EHNES A
MR, ERT AL R 2R SEFF & HDIP
W B HE . REFRS
HER,

1 A

DB S

HRBFEARB A

e

SIS *. | V, I EAE Hh
L UL ICLRT : =

REE DRI

Wl MRy

ngll-\mltaye N
Integrated|CirEuitsINe

RIEEES

.........



RIF4E

Application

SEWRBAET L BS
B8, B KB
% 2 Fh GUSAY BB D4R e
EBFHLIEHIPS IR,

=—ZH-BBNTHARS
BT RENF R A m, F B
THtFEMTEmAS.

D& FJFER TR AEN

Power Device Offer Unlimited Application Potential.

SHOS S b B

~—~
~—

Tk

RH

100M-

=
s

=
1

100k -

10k -

1k

100-

10

O A
O XU 53
®ETRAL

= b 3R [ AR

ek em Sk
VIGEST
rlVDij
Bien %
OR %

[ Do s
©c || 7 e R (UPS)

[ =pyeals]
1P

olEE A
[ Yere2yl)

IGET

n
-
.

i Q

@
pitt
R

Il
i

oETTiEE
eEA T OKMAERS

DIPIPM™

O = iFH]

[ )= €]

@ IH]
o fit B
IGBT

MOSFET

a4

M

ARF N
PR

W EEREFN MR

GCT/
GTO
AR

IGBT

DIPIPM™ |  IPM o,

AR

HVIGBT
HVIPM

B hiRE

Gl

#1

BAH%E

1

e

T IR KT ER R
(UPS)

=

AR

= pvit]

REA

Efriks&

RO KB
APARER B

EE Z=iEHL

| o

m HARA

1 EANSIEARN, RREEMRIEAHSAARTETHN.




—EPRB[HENBARES EMZERBAT D,
RRBNTEERETINRELRE, SPN. Fhh, EER. BES. MR,
RERENER, PR TUARAVIE., RENHWERFNTR. TR
B3I =NIGBT, IPMBF &, =RuSERATRAOE.

R

Trends in Power Device Technology

B CSTBT ™K #3is B ;IERIGBTFICSTBT ™ALL 8
W EBAHEE CSTBT™HIIL{ERIE
Actual Principle of CSTBT™
1950 1970 1980 1990 2000 2010 TP < © o R o SRR
1 1 1 1 1 1
CSTBT™ & WA IGBT & @ik, HA ot 1 1
= h TEREHE— 2 WM IR / \ / \ o
- WA E RN, 78 AR IGBT iy 2 it L 3% LEARE spee | | s
a THERR AR RER. BT 5 piKX A RINN S 25 NN A
[ ] S [T N, N > B n =
- 2 B0 L A R S 2 P U BB b X B, R i AE . " .
- p—n A AL i Py R HL AL 22 bl AR AR T Y
: p%_n_%/ﬁl\%ﬂg W%KEE‘{STT%_AO n"@%}‘FE":V v Al n+i§;¢§“ A A A 4 A A A A
. TE XA UL T R T — i R, B A A . -
. pHIX A n~ XM IE K & 2 N K ST X, | PEK || i i
T e W 2, HF AR A B R A n X R T f W U
L = Jran } — 48— s B .
NN W‘ 11 IE/\EJ p%IZE’ﬁ?ZﬂJ, AT 15455 7 B R S | sasna Vee(sat) vs Eoff
\‘.‘. . *&*F\%IE/\O %ﬁﬁg% (nE) “
R 1L R TEA th T M AL B ALAR, CSTBT™ 9 & . ] o -
Bip.Tr 2% ST FE BG 22 0 W78 TG B T kW JE2 19 [ 41 - R
o B NS DX BRI TR L BRI L2
hZEMOSFET #23% RELHE Sk SEHR Y
IGBT#3k R -
X CSTBT™: Mitsubishi's original IGBT utilizing the novel Vce(sat)
carrier storage effect
IPM
ASIPM
DIPIRM™ 1 2 0 OV HV| C-é'_ EE. ,:T: ?i * B RESUREZt47? H 7 ERESURE)i&?
! = N Mp EROERGE (BERE), BEMEKZT T WprnEAER S ERESUREMBHNKBTE, EBESD V&R AHEEMOSFETH RS
HVIPM High Voltage Technology of 1200V HVIC i, nERELERGENTRELHHH. HHEN, BTFTEMH BRABHERDZAFR — M EREHRANKERES., HEFS
TrERARNERENEEMIR TAGME, AEENESEHA BEDMEBER, ni 8K 2 HHp ERKAE L BHER, X pBAR
N UL TR SESFARPHETEE — &, EE2ENXMRE,
MOSFET, Jil ¥ 5 H A i BB ATHERRHHEO00V, SAAMIE, HVICK 1200V 45 T,
\ i 5, PR 7 A R 4 E) et )
WEMOSERTH | T RESURFA9HE AR, f A4 7 A FF R T E T e |
1200Vt F AHVIC, Ceonree) —
CSIBT™ / i e E 4T
P
m
EHEIC 600V {
n~ well
1200V Pl
ﬁ’g E_u!ﬁ p~ substrate ¢




D) ZE R IR

Power Modules

BB Mt o REBAR, PO 19)™ i & 5

The Industry's Leading Technologies and a Wide Range Products

DA R I 38 S H I BN ], #2402 SR8 Jr EE 45 i
K, I BERAE A ULE AR AR SRS F . D RS
PR BRSS e AS [ AT A2 ) DA R LR s 448, T 45 IGBT XIPM
(B e HRABR)

Ana] HI19T84#E, B T RBRAIRR N, AW H AT
P AR S IT R PO S, JEAER, T IGBTH R X IPM
AR SRR, AR 2 W] K A5 T R 3% S AR 7 2™ o B B8 08 7™ b
PERETT I AKEE55 1

W5

O HUFE., T B A BRI 37 70 e 3

@& LB 85 K, 4 2% 7t 55 (1500V ~3500V),

@ L LR SRR SR R, WIS N T A A M R A TC PR (UPS) 5,
@ UL A (UL1557) yellow card No.E80276 (N) File No.ES0271 (6 4+ AR 45K
@ B, B T &% AR, W B BAARUN, AR,

- m&EHE
DIPIPM / PS OO 0O0OO-000

3~75A 600V/1200V T E‘o ;gi;ﬁ
IGBT/S & E
IPM%‘E‘EUJ@&H&/ o iETE
® BEZRH
Ih R IR 25~800A 600~1200V ® Z5|&H
B EERNGEHE
IGBT# / CM150 D Y -24 NF
PM 100 RL A 120

50~1400A 250~1700V % E 5%
e
= MOSFETH% / 2

5%
® 5T

100~300A 75~150V

® FUEBR
o 3k
—RERR / W R T /AC RS
20~500A 300~2000V B #l3h LI!S

TIM AEE:2:3$S / Al x 2 { fffff ﬂ{} %}FK:ZL y

I
I
I
i
20~400A 300~1600V !
I
I
I
I
T

#: 2500V EMIGBTHEHRIES R ‘;1‘ 4 4
Ke I =




DIPIPM™

Dual In-Line Package Intelligent Power Module

BOZ AR DNFESUH R/ EME R TITEE,

DIPIPM™ PA/INRUALFI T BEOMHFAE , BE WAL M - 7 P 25, ok A L DER ML 5 ML 2 A8 0 s |
il MR BB AL N A B LB I A R T 2, g .
B 7 600V lsf HL I ity 4 AL VAT 17 4 BR T 57 841 200V e 7™ o

m A&

@z AL, VKA . BEARHL, KIZS ML
@ /N L E LR )

[ FE23

O M3A~T5A/600V, SA~35A/1200V iy 51 7™ il 22 5

ORI 7 =2 R FEIGBT=CSTBT™

@ " E S R L 3R CCHDERR R ES)

@ LR PRI, Tl T LR L, SEEL T /NG

@S SCBL T TeHAL, AF A RoHS ki,
AEDIPIPM™ Ver.4mhSKEL T Ptk - M A To s At

W2 7IE
VcEs Ic (A)
(V) 3A 5A 10A 15A 20A 25A 30A 35A 50A 75A
Super mini DIPIPM™ Ver.4 Series ! ! !
- PS2196%-4/-4S/-T/-ST
- PS2199%-4/-T

Mini DIPIPM™ Ver.3 Series
- PS2156%-P

- PS2156%-SP ! !
Mini DIPIPM™
Ver.4 Series
- PS2176%

600V 1 ! ! ! [ Large DIPIPM™ Ver.3/3.5 Series ]

- PS2126%-P/-AP
- PS21869-P/-AP

Large DIPIPM™
Ver.4 Series

- PS21A7*

| DIPPSC™ Series ! }
! - PS81B9%-A/-W ! !
DIPPFC™ Series 1)
- PS5178%

1200V 3 [ Large DIPIPM™ Ver.4 Series ]

- PS22A7%

1) PS5178% 32354 A .71 20ArmsF130Arms



Super Mini and Mini DIPIPM " Ver 4 %71

Super Mini and Mini Dual In-Line Package Intelligent Power Module Ver.4 Series

mAig
owﬁﬁﬁaﬁﬁ@wﬁﬁkmaM¥®
® /)7 Tl (A

B AR IhEE
®PIGBT/H
@N/IIGBT/

* Rl L TR P AR S KR DR L (UV)

PR R AR L ] IR AR (UV)
PRAF L I BVPR AP (RT3 ) | 3 AR Rl i
i DIPIPM ™4/ & ik oL igs RS Fit BELE 4 PR
I i 5t 2 DIPIPM ™y #RICHR SCBLAY

@ [ 4 ih : NIWIGB T AistbRey . NOUEH IR E (UV)

DR R A B A
OIGBTHh LK - DCISVH—HJH
@i A\ % 1 : 3V, SVIER#IKZ)

LV E X

Super mini package series

A
sPesrizgsgs* BS Btk maxf'(:kHz) yl;\i;_.
PS21961-4/-4S/-T/-ST 3A/600V
PS21962-4/-4S/-T/-ST 5A/600V PS1
e PS21963-4E/-4ES/-ET/-EST | 8A/B00V PS2
1500Vims | PS21963-4-4S/-TI-ST 10A/600V | 20 PS3
PS21964-4/-4S/-T/-ST 15A/600V 02
PS21965-4/-4S-T-ST | 20A/600V PS4
PS21997-4/-T 30A/600V

51 Correspond to isolation voltage 2500Vrms in the case of using the convex shape heat sink.
7¥2: 3 shunts type is not available for PS21997.

-T: Over temperature protection is available

-S: N-side open emitter(3 shunts) type
(Another 3 terminal forming types are available.)

Mini package series

= fi INEE
Hi5 2S AU max.kaz) No.
O % Hu st . SeBL/NEAY, “0 42T PS21765 20A/600V 20 PS10
@ I LS 2 XS M ERERBE AT 5 M), A6 SEBL T AR 09 TCH AL 2500Vrms#%. | PS21767/-V 30A/800V
ﬁ’ﬁﬂ‘ﬂlkﬂ[? Wﬁﬁlb\ﬂ‘@ﬁ%m?ﬁ@ﬂjo -V: Higher switching speed type
(W5 ERoHSHLE )
W AEBTHEEIERE (Ps219%%)
9 J:‘%*?ﬁ)\%j(PWM) ° ! I odb o
[ Brsm |[ wrss || wAms li NN :fa BasH
[ asnen || evepen || erenen |0 e
’_Q %AVAVAV
[uvessg | | [uvesss | | [uvesss |1 |
|
R e N ) — DIPIPM™
P
G |bG L3 |
L L Ly
P-side IGBTs |y ACH &
o
m . Wér/ <:M>
RS
LW N N-side IGBTs

vy
Vne é IQ'N :

R ey |
, ]
BB || Foiﬁﬁﬁt 4 scmipes v
TEHARSS (PWM) Fo %%H
Fof [
N
o o
Ve Vo

(15VHR)




DIPIPM™ Ver.3/3.5 %51

Dual In-Line Package Intelligent Power Module Ver.3/3.5 Series | Lm

mAig
O /LIRS i (258 YRR, UkAR 45
© /N7 B TOlL R T (HLBh 22 . AS AR i b i , 388 S 9058 )

WA ThEE
OP MIGBTJ : 3Rz il 7 F P A6 Ll | SRR IRAP Ll (UV)
ONMIGBTJH : Hkzh Hul  iof L AR L
iof HL A 47 2508 3 K W DIPIPM ™4 563 L 37
Rl bR f U, 9 B2 B DIPIPM ™ Py 5

W =mAR7
Mini package series
Ver. BS AU maxT?kHz) yﬁ;
PS21562-P/-SP | 5A/600V
#8258 FE 3 PS21563-P/-SP | 10A/600V 20 PS5
2500Vrms 4 PS21564-P/-SP | 15A/600V PS6
PS21565-P/-SP | 20A/600V

Large package ser

ies

-SP: Nl & S34% 0 B 2L

= f SMEH
(ICR LB . Sk 25 W | maies)| N,
O N IR (UV) Ry ik - 55 | PS21265-P-AP | 204600V | PO
@ EE S« ZENMIGBTIE l AR S N4 ] B YR e 2500Vims % || PS21267-P/-AP | 30A/600V
(UV) I 3 | PS21869-P/-AP | 50A/600V | 20 PS7
OIGBTH: Y HLi : DCISVEL—HLIE (4 25 LB T IN) AP RIT
@i N\ $# 1 : 3V, SVIEZHIKE)
WK
@S T ToE LAl BE, X JCHT AR 3 (W5 R RoHSHLE )
W AEBTHEEIERE] (Ps2186%)
ERBALS (PWM)
| P2 8 Q T R
[ mrmn |[ #isas || wies | 1 i ﬁ fa Rt
4</ v {4 AVAVAV
[evenen || avepen |[ evsapen | O W
0 {4 MW
[uves | |[uvas | |[ovas |FO
Lo =00 - N
[ moen || moes || S9es | | DIPIPM™
FoE e FE UL BB /
P
| Tleils;
. ACH
P-side IGBTs u
1 =0
J(l} _JQ |
N1, X N-side IGBTs
V¥ Y
Vncl LC—IN—‘
— Bt |
, |
PN =3 I l FoiB4§ I‘_"_ RipE S g X—
1 uv ,:L
523 i
TEHRAES (PWM) Fo CFo g N s
Foliti Vne Vo




Large DIPIPM™ Ver.4 27

Large Dual In-Line Package Intelligent Power Module Ver.4 Series

)iibed
@ /N i (23, Tl AR . ACHA IR 55 Bi5K
. @ JLVICHi Hi i BRI B 5
W AEhEE O % 4 4 Bl T ) SCBUAR AR AT
OP WIGBTH] : JRz) rLlk | g i FLAT AL 40t ALK | @ S Y TOHT AL AL BH X6 TE B AR e
Pl I AR T (UV) FR9 it (5 EROHSHL )
ONMIGBTH : W) ik, Fhl BRI T (UV) SR K
SR (SC) PR it
@ gk ¢ B R (SC) ARY . EAR T (UV) RE (Nfl) B=mR5
R I Large package series
OIGBTH 5y i - DCISV AL e fo | SMER
G i 1254 = il L 11 S
O\ KT 1 &SV (it FAR) o Sl 20 | pss
ST PS22A72 5A/1200V
o500vrms | PS22A73 10A/1200V
PS22A74 15A/1200V | 20 PS8
PS22A76 25A/1200V
PS22A78-E 35A/1200V
B NEBTHEEHERE (Ps21A7%)
EERAES (PWM)
gps21ATs o Q T ik ol d
- — = lelNe iy R
| WABS H HABH H HABK |%‘»\4 wlivn
[evnnen | [evnnen | [ evnnen lﬁ W
I Uv%ﬂ%l I UVEEE%I I UVEREE lf/‘
; o= Q0=
EErNEERNEEER ‘e S—
o B N
P /
ACHA P-side IGBTs U ACH
v
BEG S
N .
< N-side IGBTs
ns Pug
Vnec é Vsc
|
i Temp. Output ,—~| : EIXiJJEEEf ; l
i i | gams || Foiﬁt I*L“ SCRiFeRs Ve
[
b 500 O-—0 >
Vor TEBHALS (PWM) Fo CFo
i >
,,_L%
(¢] N (¢]




Mini DIPPFC™ %5

Mini Dual In-Line Package Power Factor Correction Series

m i
@25 T A S A %

W A EE

O #EIGBT

@ B3 L

@ IGBTH: 3 L

O Vsl IR RAR T (UV) IR47 Hutk

[ LS5
@ S T TC AR AL B X 7 TC A AR
(¥ EROHSHLE)
@i £ DIPPFC ™% Ji (yM63914F P it -,
A ) P S S AR LB DA R L A L

B AERIHHEIERE] (PS5178%)

LV E X

Mini DIPPFC™ series

i

BABE

BARER

fc
typ.(kHz)

SR
No.

BT E

2500Vrms£

PS51787

PS51789

90~264Vrms

20Arms

30Arms

20

PS10

DIPPFC™

| PS5178%

»l
P

LI 19

GND

Nz;

EPNCEE

r == s [ BHeE
T

i

|

i

|

|

|

|

i
lVIN

GND

AIRARBER

MCU

Control IC
M63914

ACHIH

10




DIPPSC™ %71

Dual In-Line Package Partial Switching Circuit Series

HAig
O /N R (2, TR, BuksH) [ EE3
@/ iR R 5 @ P30 R K & B 1E FAPSC (Partial Switching Circuit)
@SR T JoE LA B, X B TCHT KRS (W2 RoHSHLE )
W A5 ThEE
@75 45
OPIIGBTH : Rzl HLEE, & 5 % s B=mER5)
Pl PR ER T (UV) R B DIPPSC™ series
ONMIGBTH + 3zl v, il B RAET (UV) fRar i, " s fckH A
L UL (SC) B Huh e T;ﬁ; 1;} No.
Al . ko 32 > R VLA XN Ea
® kit - ?ﬁiﬁ;ég&}gj (‘UV) B8 (N 6 PS81B93-AEI-EW | 15A/600V | BA/BOOV
o Sl ! Y8 15T PS81B93-A-W | 15A/600V | 10A/600V PS11
O®IGBTHZ) Fuil : DCITV i HL g 2500Vms4R | PSBIBI-AAW | 20A600V | 15A600V| 20 | PS12
GEE A B2 ) PS81B95-AW | 20A/600V | 20A/600V
@M : IEH3.5V (FHPFEER) -A : Long outer terminal type
.PSCM -W: Both sides zig zag termnal type
UKl L i YR AR R (UV) PRar i
S L (SC) Bhir s

SCHRH, UVARY™ I 57 155 it

B AERTHEEEE (Pss1Bo*)

Vae Ym(ISVE) - (Cpscm J<—=>( mssm

Fofid
PSC part input AFo ! EERALS (PWM)

= o9 S — ? i

YE T
P ZES
EZE;

{[wvas | [wxen |[5a ]! | [ woen | [ waen | [ wren ]|

‘
|
‘ 5 T T i’
% . 5 [ersnen | [arsnen | [evspen [T |
| ]

s! A 4 I UvE l UVERER l I UVERER l ‘
—o— L my=m

IEENEEREEE R _bippsc™

Vac @ G <}
Ll Ll Ll
Reactor P-side IGBTs U /
0 Y
S
aw) | Jf bl Pw \@

| I————

| | | <}
Z] ¢ S
FTNU N-side IGBTs
NV
AN, o )‘\NW
Vnc 5 " lClN |
i
{ Temp. Output ,—~| W e I l
‘ 7 1
! )
| e
i | WARH I FOI%I I*L“ SCRIFEH UV
i
i
-0 O —0——0 =0 =
Vor TEHALZS (PWM) Fo CFo L8
Fo%i it Y

6 N4

VNe Vb (17VZ&)




A hezh R Bk (IPM)

Intelligent Power Modules

MEAF R, A8 Tl g 085 I A48 FH AR A, A2 i Al Ml S A e
HLES ] 3 B, B 7 0 P REAL , ANEUAE | (R S REAL
RZHb, T 5 Mk, AR BEAER K, AR AR
A2 TR a8 3 il 7 R B Ty AR, TR AR =

IPM “SZ&%)” . 4BVUIRIPM “S-DASHZER > #4777~
b, I H, B XM TR LRSI 07> i, %
RPN ECSTBT™ R F, A6 S B I HFE Y W] 5, >R A
B N B R, SCEL T RE /N RE R R R

m A&

@ %57 AC220V/ACA40V 7S5, A JR 26 ) FhLATL 2 i 25 B DA
T UPS 2535 i FiL %5
XAEKPRBEA BB~ R, BARRREL AIPM,

Wi

O % H T R4 VeE(sat) vs BoffF #i i CSTBT ™its i+,
ST ARIREAL

@ On-chipiid A (Tjf% &4%)

@35 Tt ) HAEH (Power cycle) B 1,

@2 5E 4 Tosi b (45 RoHS#4)

@ T SLEF= B IRET overrereereereeressesnsninns L1Z7]

@ T T /M3 (SOA/G00V, 25A/1200V pin type) -+- L1 51

WEEEThZEIEER (L1 %1) Intelligent Power Modules <L1 Series>

VcEs exmy Ic (A)
(v) | TR ERT 50 75 100 150 200 300
30 27|  PM50CL1A0GO PM75CL1A060 PM100CL1A060 PM150CL1A060 PM200CL1A060 PM300CL1A060
fEER | PM50CL1B0GO PM75CL1B060 PM100CL1B060 PM150CL1B060 — —
600 | [##2Z| PM50RL1ADGO PM75RL1A060 PM100RL1A060 PM150RL1A060 PM200RL1A060 PM300RL1A060
+Brake ,|  PM50RL1B0G0 B ~
HRETEL| e RU1008D PM75RL1B060 PM100RL1B060 PM150RL1B060
1200V
VCEs ‘o Ic (A)
(v) | TR | ERT 25 50 75 100 150
30 2R PM25CL1A120 PM50CL1A120 PM75CL1A120 PM100CL1A120 PM150CL1A120
e PM25CL1B120 PM50CL1B120 PM75CL1B120 — _
1200 | |gieE PM25RL1A120 PM50RL1A120 PM75RL1A120 PM100RL1A120 PM150RL1A120
+Brak : PM25RL1B120
rake| g4t PM2SRL1C120 PM50RL1B120 PM75RL1B120 — —
BEFETHZEERRT] IPM series map
34X (FTHA) 34 (BH) 4K E51K
( S-DASHZ3 ) (Len )
3 VEF] = L1%51
([ S-DASHfamz#Z |

V#3l, S-DASH#5!, S-DASHEIREH RS, LRSI, L1£R5], S1R3 HZRoHSHME
S#3| RoOHSHE R B

12



13

B resh BB (IPM)

Intelligent Power Modules

B SiEREFEThZ4E R  High Speed Type Intelligent Power Modules

AC220VH

_ m = (& . B WA S
2 - Voes(V) | Ic(A) S A (Phase)| & (Vac)| OC | SC [ UV | OT | BR [PFo|NFo| No.

PM50RL1A060 50 57 x|o|lO|O|O]O|O] P35
PM50RL1B060 : x|o|lo|lolo|o|lo] rss
PM75RL1A060 N 575 x| olo|lo|lolo|o] pss
PM75RL1B060 x|olo|lolo|o|lo] rss
PM100RL1A060 100 " x|o|lo|lolo|o|lo] pss
PM100RL1B060 x|o|lo|lolo|o|lo] rss
PM150RL1A060 x| olo|lololo|o] pss
PM150RL1B060 150 15/18.5 x|o|lo|lolo|o|o] rss
PM200RL1A060 200 22 x[olololololol .
PM300RL1A060 300 30 x|o|lo|lolo|o|o
PM50CL1A060 50 a7 x| olo|o|x|o|[o] pss
PM50CL1B060 x| olo|lo|x|o|o]| Pss
PM75CL1A060 N 5575 x| olo|o|x|o|o] pss
PM75CL1B060 x|o|lo|o|x|o|lo] rss
PM100CL1A060 x| olo|lo|x|o|[o] pss
PM100CL1B060 600 100 1 8 20 Y~ Tolololx[olo] s
PM150CL1A060 x| olo|lo|x|o|o] pss
PM150CL1B060 150 15/18.5 x|o|lo|o|x|o|lo] rss
PM200CL1A060 200 22 x|[ololo[xTolo] o
PM300CL1A060 300 30 x|o|lo|lo|[x]|o|o
PM50RL1C060 50 3.7 x|o|lo|olo|o|lo] pa
PM50CS1D060 50 3.7 x|Oo|O|O|[x]|x]|O
PM75CS1D060 75 55/7.5 x|o|o|o[x]|x]|o0O
PM100CS1D060 100 11 x| Oolo|o| x| x|0O]| Pao
PM150CS1D060 150 15/18.5 x|o|lo|lo|[x]|x]|o
PM200CS1D060 200 22 x|o|lo|lo|[x]|x]|o
PM200CLA060 200 22 x[oJofo[xTolo] o
PM300CLA060 300 30 x|olo|o|x|ol|o
PM450CLA060 450 37/45 x[ofJoJo|xTolo| .4
PM600CLA060 600 55 x|o|lo|lo|[x]|o|o

L SR BR : SIZ@BE O: m

L EBAR PFo : LB (PR)HFE(S S5 x BN

Pl R TR NFo : TE(NM)HEEESHH

| AR




e R # Y (IPM)

Intelligent Power Modules

B SEREFEThZ4E R  High Speed Type Intelligent Power Modules

AC220VH

- m = @ . W PRI SR
= N Vees(V) | Ic(A) e () #8(Phase)| /& (Vac)| OC | SC | UV | OT | BR |PFo|NFo| No.
PM50RSD060 50 37 Ololola]Oo]O[O
PM75RSD060 75 55/75 olofolalololo] .,
PM100RSDO060 100 11 olololalololo
PM150RSD060 150 15/18.5 olololalolo[O
PM200RSD060 200 22 olololafofolo] .,
PM300RSD060 300 30 ololo|alolo|o
PM50CSD060 50 37 olololalx|o]o0
PM75CSD060 75 55/75 olojolalx]olo] .,
PM100CSD060 100 11 ololola|x]olo
PM150CSD060 150 15/18.5 olololal|x|o]o0O
PM200CSD060 200 22 olololalx]olol
PM300CSD060 300 30 ololola|x]oloO
PM50RSE060 50 37 olololalolx [0
PM75RSE060 75 55/75 olofofalolx[o] .
PM100RSE060 100 11 olololalo|x]|o
PM150RSE060 600 150 15/18.5 3 220 [o|o]o|alo|x]|o0O
PM200RSE060 200 22 olofolalolx]o]
PM300RSE060 300 30 olololalo|x]|o
PM50CSE060 50 37 ololola|x|x[0O
PM75CSE060 75 55/75 olofolalx|x]of ..
PM100CSE060 100 11 ololola|x|x[0
PM150CSE060 150 15/18.5 ololola|x|x[oO
PM200CSE060 200 22 olofolalx|x]ol
PM300CSE060 300 30 oOlolo|a|x|x|0
PM75RVA060 75 55/7.5 olololalololo] .
PM100CVA060 100 11 olololal|x|o]oO
W PM150CVA060 150 15 olofolalx]olol .
£4 PM200CVA060 200 22 oOlolola|x|0O]0O
2l PM300CVA060 300 30 oOloloa|x|o[O] Pz
PM400DVA060 400 37 1 oOlolo[a|x|O|0O]| pes
PM600DVA060 600 45/55 ololo[alx|o|0O]| P
oC : FEHEH BR : HlZ®mE O: W
SC : BRI PFo : EB(PR)HIERES HiH A GNRAHE
UV BEEREERTRP  NFo: FENM)MEESHE X : AN
oT : FHRH

14



15

B resh BB (IPM)

Intelligent Power Modules

AC440V A

TN <

- mOE A . A RE I INEE
2 = Vees(V) | Ic(A) SHEAEIW) g o) B (Vac) | OC | SC [ UV | OT | BR [PFo|NFo| No.

PM25RL1A120 25 37 X OlOo|lO|]O|0O]| O P35
PM25RL1B120 X ON NON NON NN NONNGC) P36
PM50RL1A120 50 75 X CN NON NON NN NONNGC) P35
PM50RL1B120 X O NON NON NON NONNGC) P36
PM75RL1A120 75 15 X OlOo|lO|]O|0O]| O P35
PM75RL1B120 X ON NON NON NN NONNGC) P36
PM100RL1A120 100 18.5/22 X ON NON NON NN NONNGC) P37
PM150RL1A120 150 30 X CH NON NON NON NONNGC)
PM25CL1A120 o5 37 X O|l0O | O X Ol O P35
PM25CL1B120 X |10 | O X O | O P36
PM50CL1A120 50 75 X o100 | O X Ol 0O P35
PM50CL1B120 ’ X o100 | O X OO P36
PM75CL1A120 75 15 X O|l0O | O X Ol O P35
PM75CL1B120 X |10 | O X o1 0O P36
PM100CL1A120 100 18.5/22 X o100 | O X (O Ne) P37
PM150CL1A120 150 30 X o110 | O X Ol 0O
PM25RL1C120 25 3.7 X O|10O0 | O X Ol O P39
PM25CS1D120 25 3.7 X |10 | O X X @)
PM50CS1D120 50 7.5 X |10 | O X X @) P40
PM75CS1D120 75 15 X o100 | O X X O
PM100CS1D120 100 18.5/22 X O|l10O | O X X O
PM100CLA120 100 18.5/22 X |10 | O X o1 0O P37
PM150CLA120 150 30 X |10 | O X Ol 0O
PM200CLA120 1200 200 37/45 3 440 X o110 | O X OO
PM300CLA120 300 55 X |10 | O X OO P38
PM450CLA120 450 75 X OO | O x| O[O
PM50RSD120 50 7.5 (O OGN NG A |10 | O P
PM75RSD120 75 15 O|10O0 | O A o100 | O
PM100RSD120 100 18.5/22 o100 | O A O|l10O | O P3
PM150RSD120 150 30 O|lO | O A |10 | O
PM50CSD120 50 7.5 O|10 ]| O A X Ol 0O P
PM75CSD120 75 15 (O OGN NG A X OO
PM100CSD120 100 18.5/22 o100 | O A X OO P3
PM150CSD120 150 30 O|lO | O A X ol O
PM50RSE120 50 7.5 o100 ]| O A O X @) P31
PM75RSE120 75 15 o110 | O A @) X O
PM100RSE120 100 18.5/22 o100 | O A @) X O P32
PM150RSE120 150 30 O|l10O0 | O A @) X O
PM50CSE120 50 7.5 o100 ]| O A X X @) P31
PM75CSE120 75 15 O|10O0 | O A X X O
PM100CSE120 100 18.5/22 O|l10O0 | O A X X O P32
PM150CSE120 150 30 O|l10O0 | O A X X O
PM50RVA120 50 7.5 o100 ]| O A |10 | O P25
PM75CVA120 75 15 O|10O0 | O A X OO P26
PM100CVA120 100 18.5/22 (O OGN NG A X Ol O
PM150CVA120 150 30 o100 | O A X Ol O P27
PM200DVA120 200 30/37 1 o100 ]| O A X O | O P28
PM300DVA120 300 45/55 O|10O0 | O A X O | O P29

D I ERR BR : FIZEE O: W#E

D RBRRP PFo : LB (PSS HH A o AN

R HEREB ER TR NFo : TE(N)&EES X SRENE

L SRR




AR Y (IPM)

Intelligent Power Modules

APHEER

ij s M OE A A REERIL IMNERE
Vces(V) Ic(A) |[#B(Phase)| & E(Vac)| OC SC uv oT Con PFo NFo No.

PM50B4LA060 X O O O X O O P35
PM50B4LB060 X O @) O X O O P36
PM50B5LA060 50 X O O O O O O P35
PM50B5LB060 X O O O O O O P36
PM50B6LA060 X O O O O:2 O O P35
PM50B6LB060 X O O O O:2 O O P36
PM75B4LA060 600 2 220 X O O O X O O P35
PM75B4LB060 X O O O X O O P36
PM75B5LA060 75 X O @) O O O O P35
PM75B5LB060 X O O O O O O P36
PM75B6LA060 X O O O O:2 O O P35
PM75B6LB060 X O O O O:2 O O P36

OC : IBHRFRF Con : Step up converter O: AR O:1 1B AR

SC : R PFo : LB (PR)MEESHE X SRERHE O:2 2E A

UV : 125 B RS ER TR NFo : B (NU)#EES 5

OT : IR

16



IGBT#H R

Insulated Gate Bipolar Transistor Modules

IGBTAER Tk A SR F R = kB &l 715
R PIRE, W, SRR AR S, N HTEE AN
K, BERBARE, BN FILEA R H BT

A

(NF&31)

AR R AE PR L BRE A A IR I, FOR T AR PO AR
WIGBTHEH “FR 17 7= . BAAE, X% H 3 & DUKH
#E 5 24 1 Y 1 IGBT M 32 3% & 1 °F 1 IGBT Z 4 1t i

CSTBT™tsF, JFR e HARIGBTHIEL “NF/A R 3> DA K

X 7 B R AR T G S AR NFH R 41 B ™ e

B A%

Yl T e

@5 il i
@Kk L/ KIHAER R
@ UPS (i b7 HiL 50 )

(NFHZ31)

LRSS

O 7 55 = RHARF HHIME R~

O R JHCSTBT™ith Jr, SEBUEHHE

@ 3%z v ) SHA S

@ iR TR KRS AR A

O K ALK (A WHARFI—)

@ 17 2y R A5 i JA

QKA HT R R I HEAR)
@i LROHSHLE

H A%
OMRI (B LR iR
OCTHHt

@ 57 I 2
@ HiE AL

| L2253
@ % HCSTBT ™ 1, ScHLIR AL
Y
(ke 920%PAF (1200V NFHZ51) )
@ X K IT I (SEHR) e
@ DB TE R I (oI 5 B 8 )
@ i R A
@i 2 ROHSHL

WIGBT# R %% IGBT Modules series map

834K (F1HA) B3 (12 H) FARK F5(
([ NXE5 )
( = ] ( U%7 ) ( F®y ] ([ NF/AZ3 )
: ( KAZ7! ) ( DusEs(mHm) | ([ Mega Power Dual |
[ NFHEI(EH)

17



IGBT#ik

Insulated Gate Bipolar Transistor Modules

HIGBTHEHR(NXZ%) IGBT Modules <NX Series>

E B VGES Ic (A)
2e &= B B | V) 35 50 75 100 150 200 300 | 400(450) | 600 1000
®
600 CMBOOHX-12A
H g@: _ NX101 _
1200 CMA400HX-24A * (CM600HX-24A
NX101
190 % 190 %
N 600 CM300DX-12A * (CM400DX-12A
D NX201
ol 1200 CM150DX-24A * (CM200DX-24A * CM300IJX-24A*lCMdEI]DX-ZM* CM60ODXL-24A |CM1000DXL-24A
NX201 NXL21
. 600 CNI100RX-12A * CM150RX-12A*lCMZUI]RX-12A*
R ‘EE NX701
& *
o 1200 CM75RX-24A * (CM100RX-24A
NX701
% %
: 600 CM7SMA-12A * CH10OMY-12A
M Etitit NXMO1
K oKFeKor] 1200 CM35MX-24A * | CM50MX-24A * | CM75MX-24A *
NXMO1
S NTCABERE
BIGBTHEHR(NF%37%) IGBT Modules <NF Series>
EOE VcEs Ic (A)
25| & # B () 50 75 100 150 200 300 400 600
600 CM150DY-12NF | CM200DY-12NF | CM300DY-12NF | CM400DY-12NF |CM600DY-12NF
D ol N201 N202 N203
ol 1200 CM100DY-24NF | CM150DY-24NF | CM200DY-24NF | CM300DY-24NF | CM400DY-24NF |CM600DU-24NF
N201 N202 N203 U205
° 600 CM75TL-12NF | CM100TL-12NF | CM150TL-12NF | CM200TL-12NF
T ‘_ ‘_ ‘_ NF601 NF602
n—l ‘ ‘ 1200 CM50TL-24NF | CM75TL-24NF |CM100TL-24NF CM150TL-24NF | CM200TL-24NF
° NF601 NF602
. 600 CM75RL-12NF |CM1UURL-12NF CM150RL-12NF | CM200RL-12NF
R S CE NF601 NF602
“ CeiCHed 1200 CM50RL-24NF | CM75RL-24NF |CM1[II]RL-24NF CM150RL-24NF | CM200RL-24NF
NF601 NF602

BIGBTHER GERTEMAREENFHZRF] / FZFIDUS)) 1GBT Modules <For high frequency switching use (NFH series / F series DUS)>

E OB VcEs Ic (A)
5 E & (V) 100 150 200 300 400 600
600 | CM100DUS-12F* | CM150DUS-12F* | CM200DU-12NFH | CM300DU-12NFH | CM40ODU-12NFH | CMG0ODU-12NFH
D ol U203 U201 U206
ol 1200 |__CM100DU-24NFH | CM150DU-24NFH | CM200DU-24NFH | CM300DU-24NFH | CMA400DU-24NFH | CM6OODU-24NFH
U203 U201 U206
*: EIERXHFRS
HIGBTH#iR(A%%I) IGBT Modules <A Series>
E B VcEs Ic (A)
S E (V) 100 150 200 300 400 600
CM400HA-24A * CMGOOHA-24A *
H106
H Q@ 1200 CMGBO0OHB-24A *
H107
B ﬂ% 1200 |  CM100DY-24A CM150DY-24A CM200DY-24A CM300DY-24A CMA400DY-24A CMGO00DY-24A
oJ
N201 N202 N203

*&: Not RoHS directive compliance

@A MAS — F1ZEHAY H106, H107, U201, U203, U205, U206, N201~N203, NF601, NF602, NX101, NX201, NX701, NXMO1, NXL21 2= M IME R IHRS

18



19

IGBTH R

Insulated Gate Bipolar Transistor Modules

mIGBT#Z#(Mega Power Dual) IGBT Modules <Mega Power Dual>

E OB VcEs Ic (A)
25 EE A |V 900 1000 1400
1200 CM900DU-24NF * CM1400DU-24NF *
|
D N204 N204
*
Q% 1700 CM1000DU-34NF
N204

HIGBT#12(1700V Dual) IGBT Modules <1700V Dual>

#%: Not RoHS directive compliance

E OB VcEs Ic (A)
2S5 E (V) 75 100 150 200 300 400
b ﬂ% 1700 CM75DY-34A CM100DY-34A CM150DY-34A CM200DY-34A CM300DY-34A CM400DY-34A
o
N201 N202 N203 N205
BIGBT#®R(F%%) IGBT Modules <F Series>
E B VcEs Ic (A)
5 E #E (V) 50 75 100 150 200 300(350) 400(450) 600
CMG600HA-5F
o5 CM450HA-5F | ¢ IN-5F
H105 H106
CMGOOHU-12F
H OJ 600 U101
1200 CM400HU-24F | CMBOOHU-24F
U101 U102
250 CM350DU-5F | CM400DU-5F | CMB00DU-5F
o—J U202 U201 U202
D 600 CM75DU-12F | CM100DU-12F | CM150DU-12F | CM200DU-12F | CM300DU-12F | CM400DU-12F
U203 U201
o 1200 | _CMS0DU-24F | CM75DU-24F | CM100DU-24F | CM150DU-24F | CM200DU-24F | CM300DU-24F | CM400DU-24F | CM60ODU-24F
U203 U201 U202 U204 U205
: 600 CM75TU-12F | CM100TU-12F | CM150TU-12F | CM200TU-12F
T ‘ ‘ ‘ U601 U602
o 1200 |_CMS0TU-24F | CM75TU-24F | cm100TU-24F
° U601 U602

WiIzhES AHIGBTH R IGBT Modules <For Brake Systems>

E B VGES Ic (A)
L5 E E B (V) 50 75 100 150 200 300
600 CM75E3U-12H* | CM100E3U-12H* | CM150E3U-12H* | CM200E3U-12NF* | CMB300E3U-12H *
E3 (AR uti12
ol 1200 |__CMSOE3U-24H * CM75E3U-24H* | CM100E3U-24NF* | CM150E3U-24H *
Ut ut12

S RIET R4

BIGBT#&R(KAZ7I) IGBT Modules <KA Series>

E OB VcEs Ic (A)
25 & # (V) 50 75 100 150 200 300 400
. ﬂ% 1700 CM100DU-34KA | CM150DU-34KA | CM200DU-34KA | CM300DU-34KA | CMA400DU-34KA

oJ
U201 U202 U205

1| GG | 700 | CMSOTU-34KA | CM7STU-34KA

At

° U602

O RAS —[E1ZEAI H105, H106, U101, U102, U111, U112, U201~U205, UB01, U602, N201~N205 2 7= fa M R RS



IGBT#ik

Insulated Gate Bipolar Transistor Modules

BIGBT#E&ER(UZ3I) 1GBT Modules <U Series>

1arm—2 arms

E OB VcEs Ic (A)
L5 E & (V) 50 75 100 150 200 300 400 600
600 CM600HU-12H
H OJKE U101
1200 CM400HU-24H | CMB60OHU-24H
U101 U102
CM75DU-12H | CM100DU-12H | CM150DU-12H | CM200DU-12H | CM300DU-12H | CM400DU-12H
D o] 600 U203 U201
. 1200 |_CM50DU-24H | CM75DU-24H | CM100DU-24H | CM150DU-24H | CM200DU-24H | CM300DU-24H
U203 U201 U202

4 arms—6 arms

E B VGEs Ic (A)
L5 E (V) 50 75 100 150 200

sl S S e CM75BU-12H | CM100BU-12H
A1 K
° U401

CM75TU-12H |CM100TU-12H CM150TU-12H | CM200TU-12H

T o ‘ ( 600 U601 U602
uJ (3} o 1200 CM50TU-24H | CM75TU-24H |CM100TU-24H

Ueo1 U602

O~ RAES —FEIZEAT U101, U102, U201~U203, U401, U601, U602 2= mIMNEER KRS

20



21

PIEMOSFETHE S

Power MOSFET Modules

8 F T HUR A S B LG 3R 5l WD S5 e B, 12
Nk, RE R RIGB TR Rk ¥ 2 4 . B MOSFET 7t
A S AT IR I 5 94 HEL BB T o AELRE o A0S T G Y 1
Sy R L AR/ INRAL AR fey T SR R SR BRI 2

m A&

CL &

@ UPS (A [l L5 )
Wi

O A AIMOSFET 1, UM%
@I, JEAR AR 5 AR B A o
@ P AL R A

@52 & SLHLUR I (3 RoHSALAE )

EIHZEMOSFETHER Power MOSFET Modules

FER X AR &, R & sl 2 SR 0, 7k
i 7% B EEMOSFETH ™ LBt

% Vbss Ip (A)
25| E= E A | W 100 200 300
75 FM200TU-07A FM400TU-07A FM600TU-07A
- F601
o
T|¢ EE: 100 FM200TU-2A | FM422;U-2A | FM600TU-2A
o
— 150 FM200TU-3A | FM400TU-3A | FMB00TU-3A
F601

OF = RES — B Feo1 R mIMNELE MRS .




B BIR

Diode Modules

ESER-IREER High Speed Diode Modules | Not RoHS directive compliance (Except. RM25HG-24S, RM50HG-12S, RM35HG-34S)|

E OB VRRM Ioc (A)
el 2 2 B | v 20(25) 50(35) 100 200 250 300 400/450
250/500 RM250HA-10F | Ri RM450HA-5H | R23
RMS0HA-12F | R3
600 |RM20HA-12F | _ |¢iiSgiig 126+1| py [RM100HA-12F
H| o—i¢—o [1000 |RM20HA-20F RM50HA-20F RM100HA-20F | R3 |RM200HA-20F
B R
1200 | s Fo |RMSOHA-24F | " |RM10OHA-24F | |RM00HA-2¢F | " RM300HA-24F | R1 {RMAOOHA-24S | R
1700 RM35HG-345*| R4
300 |RM20CA-68 * RM50CA-65_~
450 RM300CA-OW *? R24
RM20CA-12F RM50CA-12F
c i 600 |rmaocA-128 RM50CA-12S RM100CA-12F
RM50CA-20F R5
1000 |RM20CA-20F AMBOCA 308 RM100CA-20F
1200 |RM20CA-24F RM50CA-24F RM100CA-24F
300 |RM20C1A-65 RM50C1A-68 | Rs
RM20C1A-12F RM50C1A-12F
1 H{I»o 600 |RaociA-125 | > [RMS0CTA-12S RM100C1A-12F
RM50C1A-20F RS
1000 |RM20C1A-20F AMSOCIA 205 RM100C1A-20F
1200 |RM20C1A-24F RM50C1A-24F RM100C1A-24F
500 |RM20DA-12F RM50DA-12F
RM20DA-12S RM50DA-128
D l 1000 |RM20DA-20F RW200DA-20F | _
1200 |RM20DA-24F RN200DA-24F

Z) BSERRENFRTSRZEEBRI R SE _MERR
HSEMREHH, SKRSMOSFET, IGBTRERIY R AV = — R EHEIHR

B iR Diode Modules | RoHS directive compliance |

* 1: ATIGBTHER, IPMa9eE 28 E i
*2: ATIEEE

<RIBS

E B VRRM IFav) (A) / lo (A)
Be] = & (V) 20 30 40 50 60 100 150 250 500
400 RMSO0HA-M
H 800 RUBOOAH |
1200 RMG00HA-24 | °C
1600 RMS00HA-2H
400 RMBODZM | _ RVGODZ-M ROODZM RMT500Z-M RWZ500Z- RMS00DZ-M
b 800 RM30DZ-H | ™° RMGODZ-H RI00DZH RI500Z-H RMZ50DZH RNSOODZH | _
1200 RM30DZ-24] RMGODZ-24 |  [RMA0ODZ:24 |  [RWMSODZ:24 |  [RM2SO0DZ-24 |  [RMS0DDZ-24
1600 RM30DZ-2H RMGODZ-2H | . [RATODDZ2H | _ o [RWTSODZ2H | [RWQSODZ2H | [RWSQODZ-2H
400 RMBOCZM | _ RMGOCZ-M RN00CZ-M RMT50CZ-M RMZ50CZ-M
o 800 RM30CZ-H | ™0 RMGOCZH RIOOCZH ROSOCZH | [R2s0GzH |
1200 RM30CZ24 | RMGOCZ-24 Rwioocz24 | [Rmsocz24 | P [Rmesocz-24
1600 RM30CZ-2H RMGOCZ-2H | [RM10CZ2H | [RWMSOCZ2H |  [RM250CZ-2H
400 RIT50UZ-M RMZS0UZM<|  [RMB0OUZM
U 800 RMH0UZH RM250UZ-H RUSOOUZH |
1200 RMISOUZ24 | [RW250UZ-24 | |Rmsoouz-24 | P12
1600 RMISOUZ2H | [RW250UZ-2H | [RMS0OUZ-2H
D2 % 2000 RM50022-40 | R10 RIH00D2Z-40 | R10
T RRE
% RM75TC-M |R19
400 |RN1OTA-M |  |RM1STA-M | |RM2OTPH-A < RUGITE I < 17| ANSOTC RMTTPIRM | roo
T R20 RM30TA-H |R16
™ X y RM75TC-H | R19
@ 800 [RMIOTAH | IRMISTA-H | _IRN2OTPIH RNAOTB-H | 17\ RNSOTCH | | QhmTp |22
B RW2UTA24 < | R15 RM75TC-24|R19
% 1200 |RM10TA-24|  |RM1STA-24|  |gorroror [0S RM30TC-24 e RMSOTC:24 | |Rureonas | Ra
1600 [RMIOTA-2H|  [RmisTA2H|  |RICOTM2E RIS RMSOTC-2H|  |AMsoTC2H | |AWTOTC2H 19
2000 RM151C-40 | R14 RUBOTC-A0 > [R14
X o ITRME IR AR
B =R E#ER Diode Modules | RoHS directive compliance
E B VRRM lo (A)
2S5 E B B | (V) 7 24 12 36
Y YYy 800 RM20TNA-H R25 RM30TNA-H R25
TN LB 4R 4
{ 33 1600 RM10TN-2H ‘st RM25TN-2H R25

O~ mA S — B2 B R1~R25 R MIMNELEIRS .

22



23

A PR

Thyristor Modules
B oiEEERELR  Thyristor Modules
E OB VRRM ot (Y,
s E B v) 20 25 55 90 130 150 200 400
400 TMA400HA-M
800 TM400HA-H
H T
1200 TM400HA-24
1600 TM400HA-2H
%% o 400 | TM20DA-M 2 TM25DZ-M T3 TM55DZ-M T3 TM90DZ-M T3 TM130DZ-M TM200DZ-M TM400DZ-M
D 800 | TM20DA-H TM25DZ-H TM55DZ-H TM90DZ-H TM130DZ-H TM200DZ-H TM400DZ-H
‘—E vz 1200 TM25DZ-24 4 TM55DZ-24 - TM90DZ-24 - TN130DZ-24 TN200DZ-24 TM400DZ-24
1600 TM25DZ-2H TM55DZ-2H TM90DZ-2H TNI130DZ-2H TM200DZ-2H TM400DZ-2H
400 TM25CZ-M T3 TM55CZ-M T3 TM30CZ-M T3 TM130CZ-M x TM200CZ-M TM400CZ-M
c 800 TM25CZ-H TM55CZ-H TMI0CZ-H TM130CZ-H Ts TM200CZ-H Ts TMA400CZ-H
1200 TM250Z-24 - TM55CZ-24 - TM90CZ-24 - TM130CZ-24 TM200CZ-24 TMA400CZ-24
1600 TM25CZ-2H TM55CZ-2H TM90CZ-2H TM130CZ-2H TM200CZ-2H TM400CZ-2H T6
400 TM130PZ-M TM200PZ-M > TM400PZ-M
p 800 TM130PZ-H TM200PZ-H TM400PZ-H
1200 TM130PZ-24 TM200PZ-24 TM400PZ-24
1600 TNM130PZ-2H TM200PZ-2H TM400PZ-2H
400 TM400UZ-M
U 800 TM400UZ-H
1200 TM400UZ-24
1600 TM400UZ-2H
% “% - 400 | TM20RA-M TM25RZ-M TM55RZ-M TM90RZ-M TM130RZ-M TM200RZ-M =
T7 T8 T8 T8
5 800 | TM20RA-H TM25RZ-H TM55RZ-H TMIORZ-H TH30RL:H TM200RZ:H
_r Rz 1200 THRRZ24 | [TesRz24 | [ TMSoRZ24 | [TW130RZ:24 TM200RZ-24
1600 TM25RZ-2H TM55RZ:2H TMIO-RZ-2H | [TM130RZ-2H TM200RZ-2H
400 Tosen | [Twesezm | [Twooezm [ |Twis0EzM TM200EZ-M ~
e 800 TM2SEZ-H TMS5EZ-H TMOEZH TMIS0EZH <| __ TH2OOEZH |
1200 THRSEZ-24 | [TegEz24 | [Tooez2s | [Ts0Ez-4 - TM200EZ-24
1600 TM25EZ-2H TM55EZ-2H TMIOEZ-2H TH1302-2H ~ TM200EZ-2H
400 TM1306Z-M < TM2006Z-M <
G 800 TM130GZ-H TM200GZ-H
1200 TH13062-24 TM200GZ-24
1600 TH1306Z-2H TM200GZ-2H
#1 #1 3 X &1 k4
feL & | 400 |TMIOTIBM | | TMOST3AM | | TM25T3A-M
T3 g\‘j‘—' %1 10 %1 %3 i %1 %4 i
3 KO 800 | TM10T3B-H TM15T3A-H TM25T3A-H
&1 k4 &2 *2
300 TMB0SA-6 | T12| TM90SA-6 |T12 TM150SA-6 | T14
S ESREYS 2 W5
400 TMG0SZ-M | T13| TM100SZ-M |T13

*1: ERBHER
X RIE A

%2 e %3:1T=30A %4:17=60A *x5:1T7=100A

OMNTRAES —FIEHEN T1~T14 RINERKIISS




. IjJ %*Ei* al\ﬁg E Power Modules Outline Drawing

3% In the case of -A, this length is 14.0mm

(%43 : mm)
PS3 super mini DIPIPM™ Ver.4 PS6 Mini DIPIPM™ Ver.3
PS2196%-4S/-ST PS2156%-SP
PS21963-4ES/-EST
38:05
20x1.778(=35.56 ) o 1.77826 (=46.228)
1778002 8e00 1605 ks }
" i T S _ ﬁMMMM‘ﬁﬁ‘ﬁﬁ‘m‘ﬂﬁ‘ﬁﬁ‘ﬁ‘rgj.T
Ml ibiauidudiuhdulil AT AR VAR AR VR ! & L ===
DIPIPMTM “}lizi Type name, Lot No, | |{@20ETHa)
i ; 233
By a olll’lN 0o 0. 0 0o o~ e[
e 57 ! Type name! = ~
Dual In-Line Package of% LotNo. q
Intelligent Power Modules (o SMIN " . s B
2 40.28 |3 .06 Luj ‘_ﬂ,‘ 762,762 | 762 ‘ gT
.54+02 l— o fla80. -C1.
;:L‘ 14x2.54(=35.56) = \4C12 - 254 "
421015
05,.. .05 =
05 T 05 —}28 .05
Ll
HEAT SINK SIDE / ;‘ \ HEAT SINK SIDE
PS1_super mini DIPIPM™ Ver.4 PS4 super mini DIPIPM™ Ver.4 PS7 Large DIPIPM™ Ver.3
PS219%%-4/-4A/-T/-AT PS219%%-4W/-TW PS21869-P/-AP
PS219%3-4E/-4AE/-ET/-AET PS219%3-4EW/-ETW
BT o835 58] AR {0 27%28(=756)
0.28 35+03 0.28 35+03 2.8+03
1.778102 1605 1.778%02 lieos 29 @5 24
H — R A N H _ al= (85)[ | (14.4) (176) || .
7 \\\\\\\\\\\\i\i\i\i ‘: . ‘\‘\‘\‘\‘\‘\i\i\i\i ‘: 3{9 ‘27‘1»*1»*1»*1hﬁﬁ1#«1‘;hhhhhf‘c#
A {4 E A {‘i E gl ,,\@,, i Type name , Lot No. \E
AD Y QR Type name! T\ A2 7 QR Type name | & :Ej P M
o) Bos) o)
o o Code | | Lot No. K Code | | Lot No. Ol W 7
SMN. | SMIN,, el 2 =
LT W [HEEHEY . — “Ul'-“-\llﬁl I (1(_25)) ssma!1otna!1otna!1ozml 2008 ‘
25%':‘[ [ A rror ;l 8-06 4-C1.2 j‘_’ M' [ [ [ | LJ 7.06 4-C1.2 6703
SR 14x2.54(<35.56) T 2540z 14x2.54(=35.56) 7902
05,05
05 05 05
.05 05
[T L Ly s
}51 = { \§ - I [ ,31"5
HEAT SINK SIDE HEAT SINK SIDE / ™\_Heat sink side

3% In the case of -AP, this length is 16.0mm

PS2 “super mini DIPIPM™ Ver.4

PS219%%-4C/-CT
PS219%3-4CE/-CET
38+05
20x1.778(=35.56)
0.28 35:03
1.778%0.2 m 16-0.5
PR H T =
17 i i ; ' 1
= s
20 d OR Type name {‘ S
Ny Code | | Lot No.
SN,
A LILILILIL L
028,] | L |s06\4C12
2.54+02,
14x2.54(=35.56)
05
.05 ,ﬁﬁ
| i \‘u"sI b

HEAT SINK SIDE /

PS5 ' Mini DIPIPM™ Ver.3
PS2156%-P

PS8 " arge DIPIPM™ Ver.4

PS21A79 PS22A72 PS22A74
PS21A7A PS22A73 PS22A76

PS22A78-E
1.778x26 (=46.228) Q : 2132313
1708015 ' B, B, B_ _B B (2.54%10)
fhhAsAGA D AR A A% AR AF
f | e ] e | e | ° !
o5 1 A
! | '3 —756 789 on [, [ ten . = N
%! Type namg,Lot No. | Ll N = &) %
! ; 233 i |
ol ldy 0 0 o o o eyl E | __ Typeniame, Lot No / 204500
8T\ %) = @ 6 O O © }Q
\ g &T [ ] s
0 % 4
: : T ¢ 9 0 " g4
5@ LE}J LE}J @ g v 10+03|10+0.3]| 10+03| 10+0.3| 10+0.3| 1003
7.62:03 462 ‘ gT 0108
7.62x4 (=30.48) 7905
(1)
42:015
49
— 2
Irz] =3
w& ) S
HEAT SINK SIDE

QR Code: QR Code is registered trademarks of DENSO WAVE INCORPORATED in JAPAN and other countries

24



P$12 “pippsc

PS9 7| arge DIPIPM™ Ver.3.5
PS21265-P/-AP PS81B93-EW PS81B94-W
PS21267-P/-AP PS81B93-W PS81B95-W

28x1.778 = (49.784)
) 27x2.8(=75.6) ‘ 46 03 3.25
2.8+03 1.778+025 12-0.4202 12-0.5
] | I
bl bl ok ot L L allallaftallallly ‘%Nn
1 21) 7% T‘
9 - 2-¢3.3
T Lot No. i I
oo /ﬁ} ype name , Lot No. {} ?}]m g OOt —6—0
o | e Ea——ry
100310031003 20+0.3 | @O o og
600 AW%‘E;VH VW‘V‘HQ
2.54 +0.25 L 3.48 5-0.5
2.54x18 = (45.72)
_ _ 52.5+05
. 04,05
=i 98

(71) \

3% In the case of -AP, this length is 16.0mm

b os ,

g i g
e

| [~

Heat sink side

PS10,\iini DIPIPM™ Ver.4 DIPPFC™
PS21765 PS51787

PS21767/-V PS51789

2.04:03

(11x1.78) _—
4.32x02 4.32+02
317802 " 1.78202

1 1.78402

28 1
o o a | 5we22
(DEPTH2.6)

o | Type name, Lot No. :

‘ooooo/d);

Code . lo
L1 B
‘G.Gtﬂal 7‘6210.3! 7.62:03|7.62:03| 7.62:03|

3.3:05 13.3:0.3 .95:0.31

2-93.3

fany
A\

31

15.5

€J°0

46-02
52.5

0.6 1 p
1 .

Note: All outer lead terminals are with lead free solder (Sn-Cu) plating.

12
71

PS11,”pippsc™
PS81B93-AE  PS81B94-A
PS81B93-A  PS81B95-A

28x1.778 = (49.784)

1778 46 +03 3.25
.778+0.25 = 2205 ’<%+02
“Tlo4o. 20-04:02 s
‘ ALAR AR pAAS
| 2033
) OO+ —6—0L

S
&
© QR [
- Code I Type name,, Lot No. 1
N o
| B W VTV WY
2.54+025 3.48 11-0.5 ‘
11-0.6

2.54x18 = (45.72)

AT

QR Code: QR Code is registered trademarks of DENSO WAVE INCORPORATED in JAPAN and other countries

25



(#4i: mm)

P28

P25 “pmsorva120 PM200DVA120
PM75RVA060 PM400DVA060
PM100CVA060
110
—|75 - 95+0.25
17 | 1vp, 120
— i — L +0.25 /‘?L?Y-PBS
T 25' fof fot @35 I@_ mI T >
T © Dia - 3.5¢
geozEr | [ =fn | ]
3 ,t(é)‘ 5 ® =@ 2 E R % «
(IPM) (| =
—| |~10-TYP. t SQ-0.64 PIN
1 (10 PLACES)
. N
Intelligent Power Modules (oot & @5—5@ Mo NUTS-3 TV
M5 NUTS agwsps)
(6TYP)
137 146108 14,14, 14
to B N N
L S T Er— | 2
gl HE ©
N[e M G g [ | =] | ®
1 1 r
P2 pms0,75,100,150csp/rsposo | P26, pm75,100cvA120 P29 “pm3oopvai20
PM50,75CSD/RSD120 PM150,200CVA060 PM600DVA060
120
5;;01; 4-¢5.5 105+0.25
170232 32 32 67 MOUNTING s L ] 120
3 3.22,|1]1101{{|10f110 —1 T . Py 2 106025 [
d fﬂ H H W L TS w14 Ef Ea IQ 7 a.5s
N A & t 99‘ 0.64 SQ PIN
T ) % 58 |
e ol g | "{‘__g 3 o -
g "lgs g | e °
| - ! N\
@ ° — GG @ of \~ (10PLS)
~ \ Dia-3.5
(2 PLS)
MS(HSI#UYL% 28 28 |, 31.]3
‘195‘ 22 ‘ M5 NUTS (4TYP) .
TYP. (5TYP)
85.2 ‘Mﬁmk ‘ 18 18 18
_ ﬂl].lll].l]ﬂ _3 . s I e B e B |
3¢ f] L | 38 q
™| o ﬁ; N N 4 - Sl ™ —
T
P3 pm200,300cSD/RSD060 P27 /pm1socvaizo P31 pms0,75,100,150CSE/RSE060
PM100,150CSD/RSD120 PM300CVA060 PM50,75CSE/RSE120
« 135
120.5+0.25
. 12105%2 :; 5 ﬁ@m 5025 | ' ;;2;‘5
X . LABEL - B S L2 4055
T - - I —] A1 & 2250 2254 2254 6254
@ ;:1 lgy J ‘ 10 E’_l | ) tﬂ @*}5 L(a Ig i . %ék«m& 1016, ;1016 Mgtjé\glNG
i . PP it g e L S | Ul G
& 2 32 32 6o ° 3% . o T
66.44 al | ol g —E==1— T8 K R
R 22 =173 BT ¢ gfﬁ ,,,,, 5
g 13 05 g i
5 e
k05 = @7 : ]CD [ B/l
J05+03 4-R6 ; :
2 2 6-M5 NUTS : }‘g’ PRV 2952 s 2 s—MsNt?Eé
a‘m.sioar* 164 6[12454 2-¢2.54
2-¢2.54 19-10.5 - = -
| S 7
y AT 1T O : = Il Ja T _
PPl I 7 + < f
I

26



27

P32 pM200,300CSE/RSE060

P37 pM200,300CLA/CL1A/RL1A060

P40 ' pms0,75,100,150,200CS1D060

PM100,150CSE/RSE120 PM100,150CLA/CL1A/RL1A120 PM25,50,75,100CS1D120
) 135
13541 055 6.05 | 110205 6.05 120
120.5 +05 o 26 26 40.5 117
MOUNTING | 6-M5 Nuts | eSS A 7 106 0.
0.5+03 ,L_‘ LABEL HOLES 105, 03 i3 +03
E ! f - oo Fo 3T 03 3
o 7) [ I s &\ ,_i wt o 8 I
© = e TTTTes oo ‘:.‘2 L A - - Ty Oy 28.79 _ 10161 10.16 <V 10.16 5-2.54
B 322 | ||[1016] | [1016] | |10 ] 7@ Y o L() vy v | | |
g s stz v | = @ N O £ e e s
T e a ) B g [ LML U | WouNTING
o Slw El = L er4a ] HOLES
N~ 1 o | ] of 83 1) 557 9 o
e ‘ o] 665 (] ﬁ,{ o ol [T T@ ©
s D os azg| &2 10921032 10 32 |35 g N [_«& Aot et =l
2 ; e i S
v T = 2 @ ol g a sl 10 |19 | 19 | 19 S T
= ~ 19 \13 \ 9 5 1 | A SCREWING
N v e v DEPTH 7.5
515 26 | 26 4-R6 4-95.5 3015 |1 8
u + Mountini 9 15-010.64
6-M5 NUTS Hoparg © = ."_7
y ¥ of -
 perstsscoss 2-925 19-00.5 o2 ‘ _j” L ‘
f = o [P ! 3
o _ b= ] ’ LABEL l o ¥
3 Q & t
Y
P
P35 pms0,75,100,150cL1A/RL1A060 | P38 PM200,300,450CcLA120
PM25,50,75CL1A/RL1A120 PM450,600CLA060
PM50,75B4/B5/B6LA060 7o
i 162
12-M6 5005 5005 5005
11 120
7 106
3.25
19.75 ||_16__16__16_15.25 2-955
1078 32 |32 |3-2 |62 NMOUNTING 9
‘ HOLES g | [T3184 31184 31.84
S 32|, 3254|322| 3254|822| 3254 ol
T $ 0 of Do {1 e 2/ I Q5B
ST Iz s P Bl 8e 2
- _OJ/ L 1 L0 ) ) \(/_ 3 |21, || 3254 | _21] || 3254 | 21, || 3254
N 375 53.75 50 53.75
4 Il o : [ [
" e ) ) |
= l% D o EIREY ﬁ.¢ =
v ‘ & s E b S SR -
1075 = =
NUTS/ === 12 2l 2]l (2]l 12l [112]] |12
32.75 23 23 23T 8-25.5 At il I Lt B i I i M i
- ‘ MOUNTING | I7] 37| |[17][17| |37)][17]
£ HOLES
E
a8
o
=
&
é 6825 240064
o EE:
3 8

P36 pm50,75,100,150CL1B/RL1B060
PM25.50,75CL1B/RL1B120

PM50,75B4/B5/B6LB060
120
7 106+025
19.75, 66.5
325 | 16, 16 16 1525 2-95.5
32 [32 |32 |62 MOUNTING
NS HOLES
- =5 —
<~ ‘|r
< H 9
— &
8 {9 QCRAID 125 220 CamE
— 5 9 13 19 —
< | ] &
< 1
hd Ead T I i e
!4 4! !4 4! !4 4! !4 4! ‘7~ee
2.5|| 9.5 S
122 23 23 23
775, | 98.25

P39 pmsorL1co60
PM25RL1C120

90
80

5],10 222 10 222 10 222 10 222222

[ T

T&® 5 @ 3eeey
2-943 9
MOUNTING | |S]
o| HOLES N =
o) Y \&
9 &
2

25
13

-
3
©
m
-
16.5




(#4i: mm)

H107  cmeooHB-24A U111 cmsoesu-24H
CM75E3U-12H,-24H
CM100E3U-12H,-24NF
CM150E3U-12H
CM200E3U-12NF
110 4-¢6.5
93:025 "MOUNTING
HOLES
@[(:C:):) ::ms
IGBTEi* E:l DCD[:] [:] -’ 17 23 23
g & ()
. SE R [] QJr . oL=l
Insulated Gate Bipolar : o L] L:] . _ L| |J - i
: A (S | oG-l e lef =
Transistor Modules @p ey 3 — LIIJLJ\I 5 Mounting
13 | 21 29 17.5 h { —‘ %ﬁ?gia_)
2-M4 NUTS 2M8 NUTS 3-M5 NulSJ £ ‘413_5»
25 —+||«— 25—« 25 TAB#110,
16 |25 L‘ /1:0.5
0 g w
(T A o N
:;: LAB;] s 3 LABEL n &I
i ‘ :
H105,“cmasoHA-5F U101 “cme00HU-12H,-12F U112 ~cm150E3U-24H
CM400HU-24H,-24F CM300E3U-12H
. e o
13.5 26 29 20.5 Dia-6.5 :
26.5 20 175 /:\gsﬂT{g[; o Al ‘ | l ﬁo-‘el\gl;)untmg 1414 14
v DI s [OJfF
RISt () [ el ¢
- AUA KIS of N 191 q
o ’_\ﬂu A4 ILI v - < ® =] R \ R wlm —— @
=J ‘ ‘ of FE& 8] [&]- .
e — &) © Pl S :
; / 25 25 |2
6.7 ?Zlql:spf:) 2-M4 NUTS J 2-M8 NUTS 3-M6 NUTS
4-¢6.5 MOUNTING HOLES
TAB#110,
0.5
— T ) . TS T
S i o
H106, cmaooHA-24A U102 cpeooHU-24H,-24F U201~ cm100Du-34KA
CM600HA-24A,-5F CM150DU-24H,-24F,-34KA
CM600HN-5F CM200DU-24H,-24F,-24NFH
CM300DU-12H,-12F,-12NFH,-24NFH
o CM400DU-5F,-12H,-12F,-12NFH
24 20 2 LLE- A B 2-MANUTS 93025 2-MBNUTS
] /aaT\(GFS) 185 245 29 215 /D 0 108 Tc measured point
VT 7.5 93025 7.5
J o (DD ¢ — AT T TG e ETRRTI Ty
*"’ng' I_Q;I QD_ 21 %oy mgl $;|LJ @J S5 E5 PO
al (=1l |hd]| sl miEY 8 4 EEE
@iﬁ':}[@@ Y s e dle] ol el ¥s s
931025 i ~ @3 25 25 | 215 25 =
108 !
3-M6 NUTS
4-6.5 MOUNTING HOLES
M6-THD.
M4-THD. (2TYP)
77T ==
% L LABEL . $ é} R LABEL 3

28



29

U601

U202~ cmz00DU-34KA U205, cm3o00,400DU-34KA CM50TU-24H,-24F
CM300DU-24H,-24F CM600DU-24F,-24NF CM75TU-12H,-12F
CM350DU-5F CM100TU-12H,-12F
CM600DU-5F ol

110=+0.25 10 102
36 438 13.8[11.5 30213 25
( =} *‘—‘:—j—’* Di?-%in in,
110 i_g) P IO S ‘ 1‘112.1 ‘;‘1‘1‘9.‘1 ‘1110‘11.5 foes "
L P B[ 2
SF—— o [ Lo Pl ¢
ﬁ}J @ 12 26 26 ‘@‘—" 4.4.04.4. ;?:_ i
g . i : ° 1 TH g
A da | e oo Ji=ie
EL: i 5 = o) . T T ‘P‘P‘*m L
SO | | (Pl e (2 SR

*o8d 25 25 .| .215,||.25 'Q L&F&J 305

HoLes @ 931025 _W r— S 5 M4NUTSJ11‘191 \11\191 11

3-M6 NUTS ?ﬁ ® @;’ i ‘

18 7,18 7,18 4 e
[ 14 14 14‘ :Hjﬁ ;\‘AggﬁTING HOLES LABEL / Z?)?; 1o
I — Hjﬁj | o e ] j -
T I T

U203 cusonu-2ah 24F U206, cmeooDu-12NFH U602~ cm75TU-24H,-24F
CM75DU-12H,-24H,-12F -24F CM400DU-24NFH CM100TU-24H,-24F
CM100DU-12H,-24H,-12F -24F -24NFH CM600DU-24NFH CM150TU-12H,-12F
CM150DU-12H,-12F,-24NFH ~ CM100DUS-12F CM200TU-12H,-12F
CM200DU-12H,-12F,-12NFH ~ CM150DUS-12F CM50,75TU-34KA

(8.5 931:1325 (8.5 9;00725
I = r—u‘ Bti?I;/I%Sming
o4 oJ ° ® o = - -
7 80+025 J N 11 1;7‘ 11 217‘ . 14.4 rotes)
17 o H“T“‘T P H_ Lo
A ® [ﬂ |@ & 5
J i LI |/| O_?I 2- Mounnng o g: o — =<;_ ? e‘ : © e o d i =
(; LI ‘}‘? 4-96.5 MOUTING, PANRANEA ~
1 HOLES ‘ 25 ‘ 25 ‘ 015 o e e dn— )
. 2] s samuns/ R VRl felell55
25~ [—2.5 —| |~ 25 TAB#110, 5-M5 NUTS 11‘ 21_7H11 ot 7111
e 2 ‘ﬁ" =08 18..7,.18_.7._18_  TAB#110.t=0.5 23 Lﬁ»‘ B0,
. 5 ho e o g o an
N % = i E
i )
U204~ cmaoopu-24F U401, czs,100BU-12H N201,” cm75DY-34A
CM100DY-24NF,-24A,-34A
72 CM150DY-12NF,-24NF,-24A
140 85:029 DA e g CM200DY-12NF,-24A
St " <2078 Holes) CM300DY-12NF
36 43.8 13.8/11.5 1180 4 % 8
jjj p o Z ? L| = z R NEIT
o [[&] : g /-E) @ N\ -
o 26 26 26 x = 5 g % 0| o P} Ii O O O "(—: ©
< L Q I A4 A4 § LLJ -
S0 1o [l €] .| B S {
Bl 7 A EN L (6] c N @]\ v
© 1 - N E a |e '—QJ & 2| a2 |12 w
- 3-M8 NUTS 4-M4 NUTS g 4-M4 NUTS l‘g ‘ h‘g - 801025
N _\ (_ [&] i 19'& 05 L 296, 5MOUNTING HOLES
0 |17.5
® @5 v
% T 95F A TAB#110, 16,7, 16,7, 16 Loane
MOUNTING HOLES LABEL 15515 a1 =05 |
| g g : N = - L = B
er'; 3 — 4 P N I A"/ |
T T °°T‘“ 41




(24 : mm)

N202cm150DY-34A N205,cma00DY-34A NX101”cmaoonx-24A
CM200DY-24NF,-34A CM600HX-12A,-24A
CM300DY-24A
CM400DY-12NF

130 10
4065 N R TR E 12
= . 1217 .
108 | o b |
931025 /—T»S-MSNUTS _BJ \4 ] (13‘.5) 118;“ (135)
s L Nols; 945 4-M6
) <i o© Bt T NUTS
%@E‘% o) oJ[o]j[o] | dqz2 | e L
215 | 25 25 24 S Nan : 245
@ a2 il e
4-96.5MOUNTING HOLES o s HOLES
TAB#110,
18,7, 18 _,7, 18 t=0.5 —
14 ‘ ‘ 14 ‘ ‘ 14 ’/ E
=1 A8 ———— , 2
e E ] | Pl 52

# All dimensions with a tolerance of

N203,” cm300DY-24NF,-34A NF601,” cmsoTL/RL-24NF NX201”cm150Dx-24A
CM400DY-24NF,-24A CM75TL/RL-12NF,-24NF CM200DX-24A
CM600DY-12NF,-24A CM100TL/RL-12NF,-24NF CM300DX-12A,-24A

CM150TL/RL-12NF CM400DX-12A
CM450DX-24A
9;10 152
114 ‘Q. 14, i 120 2.05.5 | 112?7 |
R > = 3 108203 WOUNTING (139 110205 (133
Cy o 1362, 4078 1717 HOLES R m e
| | o oo < B NUTS
3 é f*ﬂ*@ 2 gg[ f% > S 8 ﬂitlﬁia @ pa aq 8] |
o = = o AT P (O ] & g 1?,- mb %%B%
— y g ©ellellellel=srFy | |g e S )
7z}ﬁ/ F% RUTS wors)| 12| [12] [2] [12 e ! 2 6892 .3

6.5
25 25 | 215 22 | 23 T 23 | 23 T 4-055
SHORUTS 2114 MOUNTING

4-6.5MOUNTING HOLES _ HOLES
Qo < o
18 .7, 18 7, 18 ey e 3 P Sl =
) i ° OBk ¥x %k %T o &
e o - 3 &
iTe=011: | il i
@ LABEL p = o £ EJ‘ ! LABEL T ﬁ%‘ﬁl
a Y (28 » =t
#All dimensions with a tolerance of
N204,”cmg00,1400DU-24NF NF602,” cm1s0TL/RL-24NF NX701” cmzsRx-24A
CM1000DU-34NF CM200TL/RL-12NF,-24NF CM100RX-12A,-24A
CM150RX-12A
CM200RX-12A
150 ‘
137.5- _
2 | 135 g] E E-[ ABE —
12, 2 (6.05) 11005 (6.05) I i) I T
14,14, 2. o
FE = 175,26 __ 26 17 I | o5
3 [[© & 6} H W s s ) g ! ! R
TR oot 2] G ) sllss SR 7a 38 I8 R 88 38008
=l &7 =L 8% 9% 83 PR §FuTy
= o| & *5‘.’* J_M '(; 8 HE KE KX EE S -
[E = (:)‘3 9l ~ g i T o
@ @ B ) ® ® 4 136.9
B g e = 1217
= Ell &1.5_‘7@&9 T 1005 4955
@ @m i ol W2 (21.14) 94.5 MOUNTING
EREE ot 5| o5 |l | HOLES
52‘ ,‘E Q L'o ™~ ™ 34 e
. 8 =
@) (@) € oyl I 2
fffffff o | e ama | lE@E || ],
of coolll[cealll—agL g oY clg| aI% IR
T il hd N S vr = © IN
: 14]1|141414]14 ! ags5 | TN eMsNUTS | T i 2 3 a4 |t
NOURTING a2 || 42 SMENUTS 12 MOUNTING 02— 25 . 25 2 S =
HOLES b HOLES 46.3 ll‘ £ g Hollle] e
e _ 5 0 L6l | 13 6-M5
& "L S8 % 155[20.71] 22.86 | 22.86 | 2.8
4

# All dimensions with a tolerance of




31

NXMO1,” cmasmx-24A

CM50MX-24A
CM75MX-12A,-24A
CM100MX-12A

121.7

—— %0
©

o oY Q0 oY N - -
3|8 82 82 9 6R-» 4-055
% |90 @a N 6o Cwono
Fl||r- Q0 <Yb oK 0060 ’l\-lllgll_JE’\‘STING
loll5% 5% 33 % oRves

[T TT 11
7*4_2%@53 o 5375
#1166 3 {hsa
15,4 #15.48
3 "B #1828 o 5l
B #2697 ol 15[
W[ 345 ¥ | T CRMIC
#3834 o1 23
1 22
ogmw T 00 NN ©O NIL
Lrg &8 30 Rb or

#All dimensions with a tolerance of

D1ZEMOSFET
RiR

Power MOSFET Modules

NXL21,~ cmeooDXL-24A

152
137
15, 121.7
p 117.2
75| 15[ 110+05
4-55 [ 94.5
MOUNTING - wo wo
HOLES 3 @o w I @ g
= e« 83 8 XN g
o *% %% * *i % M
E S s S | —
= ) 63 4
S
2! f— 40
’g) E]‘ eyl [N
L= e o
& 65, |
e e 4
w| ~lafo] O
e v-,-i 3 © ~
- E oS ﬂ% &
(] @ 3 3| ®
8|
1 4 18 6-M6\
285 NUTS
,m 5 27,
=
5 8
S = |
o =
Rl
=3 LABEL
] e
=
o
223

#All dimensions with a tolerance of

F601 Em200TU-07A,-2A -3A

FM400TU-07A,-2A,-3A
FM600TU-07A,-2A,-3A

110
6.5 97
83 8.8,

12_12.9
165,16 32 16

90

11.5)
EAES]
6.5]
4

22

Fany
A
Fany
A\

20

o
| =7
| —— s
R
=7
9s

80
38
67

35
26
25




(#4i: mm)

14.5
22

R3 RM50HA-12F,-20F,-24F R6 RM400HA-24S
RM100HA-12F,-20F,-24F
53.5 108 4T
433 93103 4-26.5
N 16,
~
! [ol [N o @2 ~
—REER | = Sillel | 25
— T~ © © © H
iy T e | LR
Diode Modules b § ) © | &
53 3-Md4
29
33 2-M6
] /TN | i
@ LABEL d 2w
& :L _'J LABEL L] 83
' ' T ' '
R1 RM250HA-10F R4 RM25HG-24S R7 RM200DA-20F,-24F
RM300HA-24F RM50HG-12S
RM35HG-34S
20.5L0F
/2-¢5.4 . 2-M6 ; 232102 (93)
o | 5 25
7] H )° ¢ ;
S TSl @1 Tl ol o | 3 o i
== | Al - D Mark ( 9 ER
1 | © g ol 8]
1451145 o | O o | = >~ |
675 R ©liminn
80 ‘ M ‘25103 i(-l 3-M6 f
92.2L(F T B
| «
teos || 2oon 3117181171811713
d] w 5.45+05 5.45+05 § i N
— I— ity - ‘ s
_j LABEL [_gg’ﬁ% == § J’ LABEL “_8 @
R2 RM20HA-12F,20F,-24F RS RM100C1A-12F,-20F ,-24F R8 RM500HA-M,-H,-24,-2H
RM100CA-12F,-20F,-24F
RM200HA-20F,-24F
6.35 R2.1 RM20C1A-6S,-12F,-12S,-20F,-24F
4.2 ] ) RM20CA-6S,-12F,-12S,-20F,-24F
< RM20DA-12F,-12S,-20F,-24F L[ o[-
IS 08 o _St, RM50C1A-6S,-12F,-12S,-20F,-20S,-24F A Tl Al o ©
S AP E e R RM50CA-6S,-12F -12S,-20F,-20S,-24F © N 8
< S RM50DA-12F,-12S =[—|_ = = aE
7.0 53.5 =
-9 433 35 o 2-25.5
19.5 &.1 65
30.2 E% g 80
2 3 (P
J[E% R6 = F
@5.3 8 3-M4 -
33 2-M8
3.5»4; J_ —+—3.5 — 38

[
i|
>
@
m
—
30

32



R9 RM30CZ-M,-H R12 RM500DZ-M,-H,-24,-2H R15 RM20TA-24,-2H
RM30DZ-M,-H RM500UZ-M,-H,-24,-2H
RM60CZ-M,-H,-24,-2H
RM60DZ-M,-H,-24,-2H
RM100CZ-M,-H,-24,-2H 15_ 15
RM100DZ-M,-H,-24,-2H 2-26.5
]
Iy ] - R13 | a
983(.)5 888@5&? @%T Efi 3-26.5 D \ B ¢
2-26.5 i e U o 4-M8 H -1 g
olre) [o) [&] |6 gl «¢ 26l Lo | 2s) Lo RILAREY
PN T2 (R < 23] 35 | 4‘4 | 35| A+
3-M5 80+0.2 | 80+02 80
17.5| 20 | 20 50
Tab#250, t=0.8
11 T—
1 1 9 | 8 [ - ! vior i ” ” " i 3 8
—f—-l LABEL !..r_ (04 b __: :——Tg <0 _J}_. LABEL I_J:-_ang
R10 RM30CZ-24,-2H R13 RM10TA-M,-H,-24,-2H R16 RM30TA-M,-H
RM30DZ-24,-2H RM15TA-M,-H,-24,-2H
RM50D2Z-40
RM100D2Z-40
17.5‘17.5
93.5 30 10
80 2-26.5 22 12| 12 12 (22) n 5-M5
i 2-26.5
P Eniie N Elfiel]
Ol elHe] EIHE | Ol Cii-iH-B o SISy =
ORI 8l & e L S  ele N
R125/ /o] DA i
165 23 | 23 3-M5 ] 2-26.5 s
68 .18 |
‘ 80
Tab#250, t=0.8
il il 1 EHMN, i L=l
A YR a5 ; . 3
.'i"l LABEL :__I%LN _______ LABEL % P 9 L‘j‘*r"‘: LABEL :~.—1 c\.
R11 RM150CZ-M,-H,-24,-2H R14 RM15TC-40 R17 RM30TB-M,-H
RM150D2-M,-H,-24,-2H RM30TC-40
RM150UZ-M,-H,-24,-2H 25 25
RM250CZ-M,-H,-24,-2H
RM250DZ-M,-H,-24,-2H 19 10 10 4pds 145 28
RM250UZ-M,-H,-24,-2H S ) e 10 2545
3-26.5 e F
4-M8 Eea 9 [ a
i = gRlg +————1 8 © & <
& DO Q <) \ LT I[S] _|
QIE"’@%H“@}»: N @‘Q SEI ~ =
18| [16| |18| |16 s 11T 8
30 | 32 | 30 1 g 18515 116 | oM
685 | 685 L%J 57
150 75 70
LABEL
N L — = —) + : + —
— o ‘
LABEL j“ 3 5 LABEL § &
N~




(24 : mm)

R18 RM30TC-24,-2H R21 RM20TPM-2H,-24 R24 RM300CA-9W
RM50TC-M,-H,-24,-2H
4-¢5.5 MOUNTING HOLES
13.5, 15 ,_ 15 2-04.5
i ol | OnepenG
iolfle] el . == [e] | [o] el = .
o= —(el 2 | {0 Tald 2 eleie
‘ 2 d = 5
] J@L %\ T | @ 1) —A18) a
0] A R & ©
Zg 5-M5 145 28 " 5-M4ANUTS 3-M8NUTS
571025 .
80 20 8616%25
N | |
[ — m — - - - e — o ——
= : ! 0| 2 Tle | LABEL | 8|7
2 E i1l g & LABEL R { :: & 8
Hil = DR D o SIi= | 5
T
R19 RM75TC-M,-H,-24,-2H R22 RM75TPM-M,-H,-24,-2H R25 RM10TN-2H
RM20TNA-H
23 23 RM25TN-2H
D RM30TNA-H
J4, 34014 20 | 20
e I 71.8:+1
ol 3 2-25.5 64.8+05
5] A PN | %02 |
9| 1)]|_< {0} 1611 e | |
o|0l Ol N D— D— = — b (=]
&N O ® ‘ ‘ ‘ \Z IR _ ﬁfjtq i .ﬂ
' ) 8[ ] @ 8 - ér\fiﬂtciﬁ - (Of 2-Re
\ « Ny
olflllll& 30 - T T 1
16| |16 68025 5-MS ~~~ + —|l| 5-4 gT
-M
5-M6 28 4-04.5 80 1208 | 10165025 | 12733
74 10 40.64+05
LABEL
I i = o — o gf 1oe= AFD
py i LABEL i s 5w I |
A L - e 3 | Eldebd
0
©
R20 RM20TPM-H,-M R23 RM450HA-5H
RM30TPM-H,-M
2MBNUTS
97 e
2-¢4.5 -
135, 15, 15 MOUNTING 80:025 ﬁngi,NG
18 HOLES 29 175 HOLES
e ~
o | ot 1 —
o) = -29e A A ] MR 3w
& ? \J — N ,Ef)LJlW | NAI\ZA RS
Wl B W JelcT0 D
1o (10.5)|_ (8
145| 28 T 5-MANUTS
57+0.25
70
o I S
A e TN § s

34



35

T3 TM25CZ/DZ-M,-H Té TM400CZ/DZ/PZ/UZ-M,-H,-24,-2H
TM55CZ/DZ-M,-H
TM90CZ/DZ-M,-H
93.5
80 ‘
| | 2-265 ‘
AR | oelelElBee | <l
Thyristor Modules 175 20 |20 | 5.5 o]z | ol
sl o5 | s |
80+0.2 ! 80+0.2
Tab # 110, 180
t=0.5 Tab#110,t=0.5
(AT o | ooy |
LABEL D18 g ® | g®
”"‘ ”"’ Tl! ‘r‘ra
‘ ‘ T T T
T TM400HA-M,-H,-24,-2H T4 TM25CZ/DZ-24,-2H T7 TM20RA-M,-H
TM55CZ/DZ-24,-2H
TM90CZ/DZ-24,-2H 60
~ N 47.6 2-¢5.5
© (2 8 < 93.5 EENSlilrS
T 80 An e IE ) &
[\ el —|§|_ 2-96.5 \CQ === @} o| oy
=k Q111
35 2 2-¢5.5 Iz (I TSI TSI S 9 —1 I EA =
65 N 20 2 A os)
80 165| 23 | 23 | 3-Ms s 4-M4
o . 36
d
- Tab#110, t=0.5
o ”Fﬁ Ta0b5# 110, /ab#1 10,t=0.5
_ t=0. I I
‘ B N P P Mt e e z Y |
1 1 CUrTUTIAR e ! o
| LABEL | S ! 1 w |1 g ; EmEPEE
K LABEL wj Y ' LABEL ! ﬂgg o
T |;f i =t ===
I 1
T2 TM20DA-M,-H TS TM130CZ/DZ/EZ/GZ/PZ/RZ-M,-H,-24,-2H T8 TM25EZ/RZ-M,-H
TM200CZ/DZ/EZ/GZ/PZ/RZ-M,-H,-24,-2H TM55EZ/RZ-M,-H
TM90EZ/RZ-M,-H
60
176 2-85.5
— 935
_At & & 3065 80 | | 2065
O yr=—l—== @j??% T | = |
ollla o Eﬂ NEPNZS PN # (5 o ASSIUSIUES A 2l o
QI = A IOTI10[010] 0|0« Qi) @)@) O] #
i LT [Tl B o o
.Jﬁl‘ © Lﬁ» 16 18 16
ls.| ' as | Le, 3-M5
15 ] 30 |, 8 | 30
36 4-Ma e85 | e85 ‘ 175 20 | 20
150
/Tab#110, t=0.5 Tab # 110,
‘ N =05
T a1, >
T | Jo e L | Al o
! ! ‘ [ — i i
| LABEL | glﬁ S ® | LABEL :—<| IR ! LABEL ! gi S 3
LS . Ly ® - s

_l

7.

F




(#4i: mm)

T9

T12

TM25EZ/RZ-24,-2H TM60SA-6
TM55EZ/RZ-24,-2H TM90SA-6
TM90EZ/RZ-24,-2H
935
3-2657
80 2-96.5 18..20 .20 41 2-26.5
— / ==
165 23 | 23 | 3-M5 80
93.5
N Tab#110,
Tab # 110, =05
L =05 oo T az2 .
L L LT AA o i A of|®
o T o <
T10 TM10T3B-M,-H T13 TM60SZ-M
TM100SZ-M
80
2 2 2-94.5 93.5
80 2-26.5
\JE === / ——
5 1o Gle | [DEE) @ B
| 3 = || == N u'\) == ==
175 20 | 20 3-Ms
17 17
68
Tab#110, t=0.5 Tab#250, t=0.8 Lab # 110,
./
I T 1
A ‘ — 5 : ] o
. N+”"j 1“‘” ° 4 | LABEL | s g
© — T
f i 1 I I f
T TM15T3A-M,-H T4 TM150SA-6
TM25T3A-M,-H
31 27
Vo) KE [ ﬂﬂﬂ@ 20.5i 26 i 26 ; 3-¢9.0
<3 — \ i 7 ==
ol a1 |z =1 & elx
o T | & , A2 DJ] oo
S )
— — 26.5 == ==
D KE KE D) 425 4| 2.5
93
61.7 ‘
108
4-g55 24 o
86 ]
Tab#110,
5-M5 Tab#110, t=0.5 T =0,5
1 R ~ |8
_ :,i\,\LﬂJ\JLU, ~ ﬂﬂ‘ﬁ‘ = ;H> -~ ©
Sy el hd | L
o T I} el I
e}

36



KENDRFLZEFF

High Power Devices

58, ) WK

Variety of Products Apply for Wide Range Needs

RIS RGP GCT AT Rt K s R IGB T AR AY
PRI, MR TE&EW, Pk, BARGFDRE T L.
AR FITTR ., B3 @ A R AR i, W AR AT RE
GTO™ ¥kt GCT W 5k, Wil w5 FKIGBT. i i i A TPM 4%

—ixn [an-soonsosoy /  MESEERIETE
BT /50030004 12800-6000V / PM 1200 HCE 330 -1 (1)
CM 1200H C 66 H (£#E2)

- —gksn /Ao00~5000/a00~120007/ FG 4000 G X -90 DA (:<&3)
- BT /30~1500A 12002500V / GCU 15 CA -130 (H3)

_[- RIBREEEH

GTO .
Tt GTO 1000~6000A/2500~6000V, e MEZER
AR e

RS X 10= Vers
51)330 x 10=3300V
w2
Gcu / 400~1500A/6500V / T4 X 50 = Vees
51)66 x 50 = 3300V
%m3
Tt FE 245 % 50 = Voru

Virru

5
HVIGBT /200-2400A/1700-~6500V / 71)90 x 50 = 4500V

e MEERAEFKAH

L kR
HVIPM / 1200A/3300V / MR REHIET AR
o BB

o FUE M
(BISh-GCT THRREAA
HVDI / 200~1800A/1700~6500V / e FmFrifE x 100)

® fhk

BFEFILS
2 = s B

% SEY | 7 ® |mrxm|
AR RE /AT RE sR | D | — |3
WA R BT T R cR | FT | — |3
GTOT R — | e | — |3
GCTAREAA — |Jecu | — |3
A EIGBT AR — | — | om |2
BREPY — | = [ em [
BE— RERA — | — | mm |2
AR AR A RO L AR R ERBESABTA.

37



GTO/GCT #] k£, HVIGBTEIR R 51

GTO/GCT Thyristors - HVIGBT Modules Series

KD ZEMTRDZE, B RERREE TGRS, TiHE RIS & e, KA, IKH5HE.
ARTN TR EIRER, 2 ) Mt DA ST RR B GE AR S IT R, SEER AL TR, wTEsEE. GTO
WL, I T GCT A EE i RFIMHVIGBTHh R BR RS, DL % 4R 2RI 75 5K

BGCToliEtE T &5
(Gate Commutated Turn-off aJ#=5E)

GCT v 5 FE & I R 5 i GTO I S RE A R 25 B 3y 3
Toar o ST B ) 1521 TR PSR Ry, ST I T (R AR )
i AL EGTORMRREM £11/10, PRIbEIE T 70 3 3%
BN OL Boh, TDLAE W e S5 GTO W S5 By 426 25 Y
dv/deim b 22 oh R, T2 0 HEL I VT DA SEBILOG i
Tt PR BT B AR e RN A

GCT A & RETC A 55 2 i K 5 4% SC L — 1AL, 7T A BOR 4%
R, PRI P 5 A 8 T A R OR A B T R T 2R

7.0

EHVIGBT#R
(High Voltage Insulated Gate Bipolar Transistor #&i%)

HVIGBTH R H K45 BN % F A Rl AT A7
HIF R T AISIC (81 - B - At ) 2R, 7T DASEBL R
BPERK AT v, FREA AR, B MLTKVE &
7 S B HESE ORH6. 5KV B 7™ i, DL R SUBRGE R
H ARG, "R R R SRR TR,
oo A B UCHTIT ] B “NFR B 7 SN BT AR 7] 30 Bl Y
CSTBT™itshr, FFSEHL T IR FERE R i /NRAL, BEAT,
WH IR T R A& BB LI T 10.2kV R 2%
Py “HGRF™ 7 i, 7 A R BN 2] 7P F5

B, Bk
- (H) LA D
6.0 SVG ()
B AR
5.0 i
) 000 0O @, O
% 4.0
3
< O (HE (H) i T
= 3.0
T | .
o . De-alloy GTOZ7%! (DA% 51)
$ e © (0@ |0 O g{, °
20 . GCTREHER K
(oE JH0) @ (H I H) QO @ +vicsmn
HVIPMZ %
1.0
0 1.0 2.0 3.0 4.0 5.0 6.0 7.0
Irarm/ Icm(kA) =
51 lem=Icx 2
2 HRRE—THE  DRJIMMY E RRIFKEHRER
BMPWMESF /3T FHERE
___________ PWMERE _________ _CPRems o Pwwmgmm
| R s ™H EEETT - Vi wig
! ! !

: J' % ‘L i | ERERGE| | | Jr % ‘L % :
=tReR, +[ + o P +[ + | 3 AR
) Do = —(Mm

| I }3

____________

38



39

ST &

Rectifier Diodes

WEAEZ=IRZE Rectifier Diodes for General Use

BE (V)
B S — 500 600 2800 3000 4000 5000 ¥R
B (A)
FD1000A-56 800 ® TR 045
FD1000D-56 [ ¥R 035
FD1600CP-10 [ TR 035
FD1600A-60 1600 ° ¥R 050
FD1600CV-80 [ TR 060
FD3500BP-12 [ TR 060
FD3500AH-56 8500 [ TR 080
FD5000AV-100DA 5000 ° TR 085
*1: RETHIREFERT
BEEFXER_ME Rectifier Diodes for Fast Switching
BE (V)
B S — 2800 4500 6000 ®OR
B (A)
FD1000FV-90 800 0 ¥R 060
FD1000FX-90 [ ¥ 060
FD1000FH-56 1000 [ ¥ 050
FD1500AV-90 1500 ° ¥ 070
FD2000DU-120 1700 ° ¥R 0130
*1: RIBTHIREFERR
ESEFRELZ-RE (EFHREYS5M) Rectifier Diodes for Fast Switching (Soft Recovery Type)
BE (V)
B e —— 4500 6000 R
7% (A)
FD500JV-90DA 500 ° ¥ 047
FD1500CV-90DA 1500 [ ¥ 085
FD1500AU-120DA 1500 [ ¥ 085
FD3000AU-120DA 3000 ® TR 0130

*1: REFHIRBRERT




[LEALE:

[ GTO w] & hi:

Thyristors / GTO (Gate Turn-off) Thyristors

BFET4EEE Thyristors for General Use

BE (V)
B = | 400 | 1200 | 1400 | 2500 | 2700 | 2800 | 4000 | 12000 ® R
B3 (A)
FT1000A-50 1000 ° ¥ 050
FT1000BV-80 ° ¥ 060
FT1500DL-28 ° F¥% 050
FT1500CH-54 ¥ 060
FT1500DV-80 1500 [ ¥¥% 080
FT1500GV-80 2 ) F¥% 080
FT1500AU-240 ° ¥ 0105
FT2500CL-24 2500 ) FF% 060
FT2500BH-56 ) ¥¥% 080
FT5000AP-8 5000 ) ¥ 080
EE;/)IL{EjJ:Fi’JEFJEEEJ)\L{EQ
* 2 BB R ALY AR B2 T 4R EE
WS EFF BT Fast Switching Thyristors
BE (V)
B S — 1200 1800 2500 2
B3 (A)
FT1000CY-24 800 ® (15 ¥ 050
FT1000CX-36 ® (30 FF 050
FT1000AX-50 1000 ® (35 ¥ 060
FT1500EX-24 1500 ® (30 F#% 060
FT1500EY-24 ® (0 F¥ 060
SRENFHSEE R,
() BHMTEREMNANEAE (us)
BGTOT[#E5E GTO Thyristors
BE (V)
B S — 2800 4500 6000 ¥ Or
B3 (A)
FG1000BV-90DA 1000 ° ¥ 047
FG2000JV-90DA 2000 ° F¥ 063
FG2000FX-50DA 2200 ° F¥ 063
FG3000DV-90DA ° T 070
FG3000GX-90DA 3000 ° F¥% 075
FG4000BX-90DA ° F¥% 085
FG3300AH-50DA 3300 ° ¥F 970
FG4000EX-50DA ° ¥¥ ¢85
FG4000CX-90DA 4000 ° F#% 085
FG4000GX-90DA ° FF ¢85
FG6000AU 120D 6000 ° T 0130

: BRELTUEEMHFXIEH NS BEHERE.




41

GCT ] £ et A

GCT (Gate Commutated Turn-off) Thyristor Unit

[ o3

AR A A ) 3 KA IR sl RS — GCT Wl 3k 551 TH%
K H B A R — I S GOT o] Pk 5 3K ) L i 1
TRALLL A, TR R B M R EGCT R B RE R BPERE,

| J::bey

GCT I stk 55 X 5 HL i £ 0 — PRI AC™ ff, $RAER] 3, T
FRF AR

@ 1) 2R 1T
- SVG (S TEI R LR 4% )
- BTB (L)) R G E)
- PR WAy
@ F Tl
- ERIREL, AR R B, KA SE RS HLERS) .

GCTRIEREAHKRTI
O ACH KR
B GCT Units
VoRm VM Irarm :I'j R Gate driver supply
#H 5 BRI V) V) (A) (€) Control input signal
BEES | GEES | EETE | .00 f vV Supol
3 W el P RESE EEER ‘A'mm/= (HZ) (o] upply connector
Optical fiber data link
4AA-1 4
Gcuo 30 00 Made in Transmitter: HFBR-1521:
: Made in
GCU0BBA-130 |RFELF| 6500 | 6500 | 800 125 | 780 |aovpe | noen contact Co.Ltd Agilent Co.,Ltd.
MoTES /5 G-5.08AL Receiver: HFBR-2521:
’ ’ Made in
GCU15CA-130 1500 Agilent Co.,Ltd.




. G CT E'I-*ﬂ:r“1 ﬁi 9" ﬁ; E GCT Thyristor Outline Drawing (243 : mm)

GCUO04AA-130
208
104 |
6xM4 1T°
= S8 68 (R39.5) 3.5+02
8 Koo 1 |~ 2202 DEPTH
SIIGE =Nt = R
B = Dl R
S5 D
an ,) 0
S8R |Y Lf N =i
] ]
il e ss B
2] W Qo )
GATE TEST POINT \2ov POWER SUPPLY INPUT - 5
CATHODE TEST POINT (MSTB2.5/2-G-5.08AU)
LED4: POWER SUPPLY OK (GREEN) FIBER OPTIC INPUT (HFBR-2521)
LED3: G-K OK (GREEN FAULT SIGNAL OUTPUT (HFBR-1521)

: ( ) CAPTIVE SCREW (M4)
LED2: GATE ON (YELLOW) (HEAT SINK SIDE DEPTH 6 to 8mm)
LED1: GATE OFF (RED) °

160
6+05 120 6:+0.5 3
T A H p L
i ‘ 2 @ O
i s =R
¢ ; + X ¥ S ‘17 s —’H\
; 6+05 8 (}7 ﬂ;
< 238+0.2 2 } 4 o
6:05 ™ =
3 Detail A 2
@3.5+0.2 E—
2.2+02 DEPTH
GCUO08BA-130
2-6XM4
2-6xM4
o
@
8 7
8 0
(=] o
g 8
?3.5+0.2
2.2+02 DEPTH ——
165 b
oateTeSTPONT | v powe suppLy mpuT
T (MSTB2.5/2-G-5.08AU)
LED4: POWER SUPPLY OK (GREEN) FIBER OPTIC INPUT (HFBR-2521)
LEDS: G-K OK (GREEN) FAULT SIGNAL OUTPUT (HFBR-1521)
LED2: GATE ON (YELLOW) CAPTIVE SCREW (M4)
LED1: GATE OFF (RED) ] (HEAT SINK SIDE DEPTH 6 to 8mm)
3l 2
160 | &l & ]
lL ] : =
80 ©l o
%( 6505 ‘ ‘ w11 D205 | - = R N
“ A ) m__t
£ N — i — T,\
2 Qo
5 Detail A
g|  Detail A
i
@3.5+0.2
2.2+02 DEPTH




(#4z2: mm)

208
GCU1SCA'1 30 104 20
194
160
54.5 54.5 @3.5+0.2
2.2+02 DEPTH
A >
: =]
[ee]
[
id
18 : Y = __
2 Ity A
: X 3
1=y ant
Q iy 9 1
% g
q° B w
f B &
2-3xXM3 i o I 0
pritas 8 P8
el et [ ¥ L
4 TrYy \EAA:l‘/ ,,,,,,
GATE TEST POINT — \ 5
CATHODE TEST POINT — FIBER OPTIC INPUT WITH METAL SUPPORT PARTS
_ (HFBR-2521) 37
LED4: POWER SUPPLY OK (GREEN) Ll FAULT SIGNAL OUTPUT 20V POWER SUPPLY INPUT CAPTIVE SCREW (M4)
LED3: G-K OK (GREEN) (HFBR-1521) (MSTB2.5/2-G-5.08AU) (HEAT SINK SIDE DEPTH 6 to 8mm)
LED2: GATE ON (YELLOW) 170
LED1: GATE OFF (RED) - o 6+05
160 § 2 7,
— 80 b [ a6
= $ Q
= 6+0.5 —F“
& qv\.
~| o
4
¥ 0 = 605
i e
605 Detal A

@3.5x02 2.2+x02 DEPTH




=R IGBT AL,

High Voltage Insulated Gate Bipolar Transistor Modules

W5

@457 i R G ERAR S T

O RBm AR (K + 10.2kVrms. AC14351)

@iE Tk, KA (Fr6.5kV/600A, 1.7kV/2.4kA)
O R R FEFRIA K A7 fiv e it

@ FREL TR F R RV

m &
@ LS kE N
AW RS BTMAERE . SIV (SN IR E)
@ F 1l i
BRI, KA B LIRS
© Ly 2N
- SVG (ATt R TR 28)
< BRAS s

=M EIGBTRIRA S

BHVIGBT#k (R£7%1) High Voltage Insulated Gate Bipolar Transistor Module <R Series>

RFEAR Low loss I\Ki[e=%5%8 AISiC Baseplate

E B Vees &4 E Ic (A)
L5 E E V) | (kv) 750 1000 1200 1500
3300 CM1000HC-66R** CM1500HC-66R*
H g 6.0 CM13 CM11
4500 CM1200HC-90R**
CM11
E4 { 3300 | 6.0 CM1000E4C-66R**
3
CM12
3300 CM1500HG-66R**
CM17
H g 4500 | 102 CM1200HG-90R**
’ CcM17
2 8.9
6500 CM750HG-130R
CM17
* HER
O RES —F1ZEH A cM11~CM13, CM17 &= RIMNE B BIIRS ook FF &R

44



45

we i) IGBT#

High Voltage Insulated Gate Bipolar Transistor Modules

BHVIGBT#&® (N%%/N&5I BE)

High Voltage Insulated Gate Bipolar Transistor Module <N Series /N Series B Type>

I Low loss (05710 CSTBT™ chip
E B VcEs Ic (A)
S E E B’ | (V) 800 1200 1800 2400
CM1800HC-34N CM2400HC-34N
H g 1700 CM1200HCB-34N* cuito
CM1800HCB-34N* CM2400HCB-34N*
CM7 CM8
g CM1200DB-34N
D E 1700 CM800DZB-34N* CM1200DC-34N
ol
CM4 CM9
4 1700 CM1200E4C-34N
<3
CM10
* : FiE
BHVIGBT#k (HG%3%1) High Voltage Insulated Gate Bipolar Transistor Module <HG Series>
[SE-E4ii=38 High isolation \Ri[er=2E AISiC Baseplate
EOE VcEs Ic (A)
L5 E & (V) 200 400 600 900 1200
* *
3300 CMA400HG-66H CM1200HG-66H
CM14 CM16
*
i g 4500 CM600HG-90H CM900HG-90H*
CM15 CM16
* *
6500 |  CM200HG-130H CM600HG-130H
CM14 CM16
Eo i 6500 CM400E2G-130H**
=
CM16
4 {: 6500 CM400E4G-130H**
=
CM16
* : Fi R
@M= RAS — FiZEHA CM4, CM7~CM10, CM14~CM16 27 R INER RS *k  FF&H



i) IGBT#

High Voltage Insulated Gate Bipolar Transistor Modules

EMHVIGBT# (HC%3%) High Voltage Insulated Gate Bipolar Transistor Module <HC Series>
BRI Low loss I\i[e=%% AISIC Baseplate
E B VcEs Ic (A)
25| E ¥ (V) 800 900 1200 1600 1800 2400
1700 CM1200HC-34H | CM1600HC-34H | CM1800HC-34H | CM2400HC-34H
CM1 cM8
2500 CM1200HC-50H
u @ cMs
3300 | CMBOOHC-66H CM1200HC-66H
CM7 CM8
4500 CM900HC-90H
CM8
D ii@ 1700 | CM800DZ-34H
ol
=
E2 E CMB800E2C-66H
/ @ 3300 | CMB80OE6C-66H
E6
CM8
E4 E; 3300 | CMBOOEAC-66H
o
CM8
BHVIGBT#1k (HB£7%I) High Voltage Insulated Gate Bipolar Transistor Module <HB Series>

AR Low loss

LE=2EiB Cu Baseplate

E B VeEes Ic (A)
L5 E E B (V) 400 600 800 900 1200
0500 CM800HB-50H CM1200HB-50H
CMm7 CM8
u g 3300 CM800HB-66H CM1200HB-66H
CM7 CM8
4500 CM400HB-90H CM600HB-90H CM900HB-90H
CM7 CM8
B HVIGBT#k (HA%7%) High Voltage Insulated Gate Bipolar Transistor Module <HA Series>
LE-2E:88 Cu Baseplate
E B VcEs Ic (A)
L9 E I (V) 400 600 800 1200
1700 CMB00HA-34H il CM1200HA-34H
H g 2500 CMB800HA-50H CM1200HA-50H
CM2 CM3
3300 CM800HA-66H CM1200HA-66H
CM2 CM3
1700 CM600DY-34H
;@ CM4
5 5500 CM400DY-50H
g CM5
3300 CM400DY-66H
CM5
o {: 1700 CMG600E2Y-34H
i}
CM6

@A RES — FiCE M cMi~cM8 27~ RINEEMIRS

46



47

. HVI G BT *Ei* yl\ﬁg HVIGBT Modules Outline Drawing

CM1

130

CM800,1200HA-34H CM1200,1600HC-34H

7Y

L Lo

©

114

4-M8 NUTS

L
[P

L]

@

Gy

=

==——==——2 C’]
8

124+025
140

D@ﬁ e —

16.5

4z \somoum oies
18.5

CM5 " cm400DY-50H,-66H

4-M8 NUTS

J

6-@7 MOUNTING HOLES

3-M4 NUTS
ﬁ" LABEL LABEL
I - 18_‘_ /3 T ©
L—l_LJ_‘—,% ;ﬂ{j
CM2 ' cM800HA-50H,-66H
57025 1 57+025 4-M8 NUTS 4-M8 NUTS
IO S
( =) 0C 1«
Lol Lo, ns i
F=—Tr—11 41 _ === 'EE
|

Eﬂﬂ\nm

@1

30
124:0.25
140

5-M4 NUTS

6-@ 7 MOUNTING HOLES

LABEL

©
]

o
1

4}
Gl &
BU C Jie
=Y =0 ][ @I]U lbﬂl@
: B lmers @
3-M4 NUTS %H—ms 6-@7MOUNTING HOLES 3-M4_NUTS 40 e \ 6-B7MOUNTING HOLES
},‘ LABEL :355 552 LABEL
i :
T 1. [Fr— e
RN, I
t f
CM3, cm1200HA-50H,-66H CM7,” cMma00,600HB-90H  CM1200HCB-34N
o ) CM800HB-50H,-66H CM800HC-66H
S7i0m . 67:0m | 67:0m '} 6-M8 NUTS "
769[ @ _ma f 57025 114 57025 M8 NUTS
I [~ IE 8O [ Ta—
~Col—(ol—(of () g
E==mmmm==rlE o (9],
T BT © e R
Y S 5| &
3-M4 NUTS il \ 8-0 7 MOUNTING HOLES ?] /E a—'g.@ v
724 . LABEL S-M4 NUT‘ZB 10,65, |-|-~10:35 \ 6-B7MOUNTING HOLES
R BT ﬂf*;'——m's LABEL
I I .
LTI a7 o
f t
Cm4 CM600DY-34H CM800DZ-34H CM800DZB-34N Cm8 CMB800E2C/EAC/E6C-66H CM1200HB/HC-50H,-66H
130 CM900HB/HC-90H CM1800,2400HC-34H
ST 11‘4 S7om 4-M8 NUTS CM1800,2400HCB-34N o
D [ 570m | 5;72)25 57+025 i 6-M8 NUTS

:
@ll@l‘

@44

(I

& [9 (O

B =

40 7]
124
140

3-M4 NUTS 79.4

61.5 61.5
et uen




(#4i: mm)

CM9

CM1200DB-34N CM1200DC-34N

130+05

57+0.25

4-M8 NUTS

1244025
140+05

(K]
] 5
6-M4 NUTS 1?004262 4412202 \W
53+02 - 257t02 a?,\'?%\gg\m DEPTH
24 . 16.
'\smc’\ﬁwm DEPTH  1185s02 =22 23 |
I -
:_ ¥ % *gl

CM13“cm1000HC-66R

130+05
57+0.25 } 57+0.25 | 4-M8 NUTS
e @ 33
e

140=+05
124:025

[

B
40+o0,

©

2

+0.

9

[
10.65+03 ‘

3-M4 NUTS

10.35L03®6-¢7 MOUNTING HOLES

48.8+03 ‘

SCREWING DEPTH
MIN. 7.7

61.5+03
18205 | \

SCREWING DEPTH
MIN. 16.5

—

28105
-

s

+1

38 o

CM10“cm1200E4C-34N  CM1800,2400HC-34N

CM14” cM200HG-130H CM400HG-66H

73+05

130+ 4-M8 NUTS
574025 +0557:0.25 | 57+0.25 ‘ 2-M8 NUTS
©J ? o & -
! s
”J p28/]) 8
:
G 3)
= b o 8 8§ g - gl @
Le—— =l Il — 3 3 &
QI I F 33
3 J 1 @» A - N -
[3] @]
m I i
-| 10.35+02 '\ : S
SMATUTS 10"&5;22 6-67 MOUNTING HOLES 216508 2" |__|12.0:00 4-67 MOUNTING HOLES
= SCREWING DEPTH I
SCREWING DEPTH . 615+08 MIN. 16.5 SCREWING DEPTH 16-2403?_4‘ SCREWING DEPTH
MiN. 7.7 180z [37] | MIN. 4 0 MIN. 16.5
T LT T, A T ER
T I_ J A ‘gf’[ P ?
CM11,”cm1200HC-90R CM1500HC-66R CM1S “cmeoorc-o0n
+0.5
| 57+0.25 | 57025 | 4-M8 NUTS
190+0.5 L
) 57+0.25 | 57+0.25 | 57+0.25 | 6-M8 NUTS 76' @L @
O B I 1
SN )
L Fol 8 2
ol g [ of E—— E— gl 5l 2
gl e = g I3 S
S S gl M-
a
O N/
3-M4 NUTS 8-¢7 MOUNTING HOLES 3-M4 NUTS 285:05 -
‘ 412503 425508 | 007505 4-67 MOUNTING HOLES
79.4:03
1303 SCREWING DEPTH 61.2:05 SCREWING DEPTH
SI(I;’\?EVgING DEPTH ‘ 61.5+03 61.5:03 SICI;I\?E\QIQ‘G DEPTH MIN. 7.7 165003 ‘ MIN. 16.5
— Pr— P R—— T o
2 S [ =
AT :
g \ 8
CM12,”cm1o000E4C-66R CM16,”cMaooE2G-130H  CMGO0OHG-130H  CM1200HG-66H
CM400E4G-130H CM900HG-90H
190+05 190=05
‘ 57025 ‘ 57025 : 57025 | &-M8 NUTS | 57+025 _, 57:025 _ _57+025 | 6-M8 NUTS
1 & & A sy ‘ \
AR o
L A
Jq I ‘ :
sl a7 2 U g e
gl ] - ———— 333
" ml : | (¢} A sBREL
[)] | 3
i @ =
3.M4 NUTS \ 20.2520, 8-67 MOUNTING HOLES -
4135203 3-MaNUTS 14208 || 59.2505 | 8-67MOUNTING HOLES
79403 13+03 SCREWING DEPTH SCREWING DEPTH 61.2+05 61.2+05 SCREWING DEPTH
?A?ﬁ%vglNG DEPTH 61.5:03 61.5:03 MIN. 16.5 MIN. 7.7 } 12403 MIN. 16.5
ey e [ T TT=TF] -
a1 T T s HE
" }

48



(%432: mm)

CM17” cm750HG-130R CM1200HG-90R CM1500HG-66R

19005
6-M8 NUTS

57+0.25 | 57+0.25 57+0.25 |
=9
<9
N

@4

14005

3-M4 NUTS 1403 8-¢7 MOUNTING HOLES
| 1592203
1203 SCREWING DEPTH
’\Sﬂ(IJNRE7V¥ING DEPTH 61.2:00 | 61.2:00 MIN. 16.5
T e
[ L [N | ——|

ol o B 52

E{R 2

@

49



7oy Tief B A AR

High Voltage Diode Modules

WS E=RERR (RRF)

High Voltage Diode Module <R Series>

RFER Low loss AISiC Baseplate

E B VRRM Ic (A)
25| E (V) 1000
RM6
* %k FF &
BSfE=REER  High Voltage Diode Modules
EEAn:= High isolation ASi[ex-¢E:l AISiC Baseplate
E B VRRM Ic (A)
25| E & (V) 200 300 400 600 1200
3300 RM400DG-66S* RM1200DG-66S*
{: RM4 RM4
3 4
{: RM4
6500 | RM200DG-1308* RM600DG-130S*

RM4

RM4

BSfE=HREER  High Voltage Diode Modules

AISiC Baseplate

* i

i B VRRM Ic (A)
25| & & (V) 600 900 1200 1800
1700 RM1800HE-34S
RM2
H {: 3300 RM1200HE-66S
RM2
4500 RM600HE-90S RM900HC-90S*
RM2 RM3
* R
BESfE=#HREER  High Voltage Diode Modules
GoE-Y L Cu Baseplate
E B VRRM Ic (A)
25 & & (V) 400 600 900 1200
1700 RM120£353-34S*
D E 3300 RM400DY-66S il RM600DY-66S RM120£3§-GGS*
4500 RM900DB-90S*
RM3
* R
O A= RHE — FiTE A RM1~RM6 27 RIMNEE KRS




| r%_ ﬁﬁ#E - *&%ﬁi* 9" ﬁg E High Voltage Diode Modules Outline Drawing (#fiz: mm)

RM1”rma00,600DY-66S RMS“rm12000B-348

130 130=0s

14 57025 57025
57025 57025 4-M8 NUTS [

—
[ X o) @ %
=
||

4-M8 NUTS

20+01

>
20

30:+02
124025
140+0s

2%

Ll

(el ef
T
UI@ I?k—‘_]éi 5 @ a

40

124025
140

6-37 MOUNTING HOLES
6-¢7 MOUNTING HOLES

] 55.2:05
11.85400 |w——t=2 | SCREWING DEPTH
M LABEL ﬁ_’ ‘ MIN. 16.5
/ |

\ a
mi H

1

1.0

_"::
5+02
8 0

@
@

]

RM2 ' rme0ooHE-90S RM1200HE-66S RM1800HE-34s |RM6,“Rm1000DC-66F

90 130205

7:6” ‘ 4MB NUTS ‘ 57:025 , , 57+025 | 4-M8 NUTS
, |
90 (DO ¥ Q.
|

‘ 20-o.

([l
{=9)
-©
_—
8

18

615
|
dd
|
i
i
i
\
T4s0s
130

4-26.5 MOUNTING HOLES SCREWING DEPTH
| ‘ MIN. 16.5

}
% ] T
i 3 E | “H1 g
: = = —

0.2

29.7
L
9.3

RM3,”rmo00DB/HC-90S RM1200DB-66S

130 4-M8 NUTS
57+0.25 57+0.25 |

J
]

2]
@ﬁ@
Bl

61.5 6-¢7 MOUNTING HOLES
., | screwmGDEPTH
‘ = MIN. 16.5
‘ 4 .
! o'
J—

RM4 " rM200,600DG-130S  RM1200DG-66S
RM300DG-90S RM400DG-66S

130:0.5
57:025  , 57025 4-M8 NUTS

17+0.1

124+0.25
140+0.5

6-¢7 MOUNTING HOLES

SCREWING DEPTH
MIN. 16.5




e i) s IPM

High Voltage Intelligent Power Modules

Wi EIPM High Voltage Intelligent Power Modules mIMEE (#4372 mm)
EOE VCcEs Ic (A)
— = = PM1 PM1200HCE330'1 61.5+03 61.5+03 | 6-M8 NUTS
8 & 2 (V) 1200 RN ‘
. o TY Y %i
y JK} 5300 PM1200HCE330-1 9
Gl O] @ ..
T T 71 T atol 8| 9
g ® [ 1 1 | :t‘f § SOI
VI NC VC Cl FO NC ; ;‘!; @ @
L | Ll Eé ‘l
WO L &
N B | ! 12 165
i ) ’ \Mis (\" 17 L’) 8-26.5
EHEEO 57103 5708 |, 57:08
(HEOA:IL-AG5-65-S3C1) 190:08 '
| | |
=TI il T || | P
oC e ) L] L1 ¢ L] i "°|
3 26 [,

52



HVIC

High Voltage Integrated Circuits

600V, 1200V 3 ¢ /245 B il K R Z HVIC

600V and 1200V 3g/Half Bridge / High Side / Low Side Driver HVIC

ZA K 600V (1200V) if 01457 8/24 Vit s TeAF 88 BRAE — At
LR, T E RS R s G 5 K MOS/ IGBT A4 s
P GIRG R LI

R, TR SRS A A YR R T AR L 5 S B
A S N B Ao, SEBLT JC WG HURE £ 4% T B A AL B S
R HL I AT A K B A

m &
503G FI T R 37 2 MOS / IGBTI 3K o
@i /11 A5 5 0%
@zsifl, UkA . PEAHL
@ ACT i HL AL
@ DC JCh Hi bl
@7:3%:4T @PDP
BIEE—RER

m o= BT | FLYT | nemmss wamsiun| wxemes | & x| 4 R | ARESES
M63975FP (Lead free) 24 405 EEM 1 — — 10P2N @
M63991FP (pb free) — AR 5 16P2N ®
M63992FP (pb free) +2.0 BAES Mt B8l ThEE
M63993FP (Lead free) 600 +0.3 30 Hr 2x3 (6) 36P2R 0
M63994FP (Lead free) +0.5 LR 1 A EIZE _ 8P2S 1
M63996FP (pb free) +2.0 2 BMAES 16P2N 5
M81700FP (Lead free) e
M81701FP (Lead free) . .o GE TR
M81702FP (Lead free) +20 R 2 WARES EHLINEE 16P2N ®
M81703FP (Lead free)

M81705FP (Lead free) +0.15/-0.125 = EM 1 — —
M81706AFP (ob free) 600 +0.12/-0.25 ¥ GEGEE 8P2S @
M81707FP (pb free) +0.1 FHAESEN 5 S —
M81708FP (pb free) +0.12/-0.25 e RARES W BT 16P2N ®
M81709FP (pb free) +2.0 AIRe
M81713FP (pb free) +0.5 EHE 1 AEREE — 8P2S (@)
M81019FP (pb free) 1200 +1.0 2 BMAES Mt & 8 ThEE 24P2Q (@)
M81711FP (pb free)
M81716FP T 24 +0.5 PR =M 1x2 — — 8P2S @
M81712FP (pb free) +0.2/-0.35 30H% 2x3 (6) Mt B 8iThEE 28X9R
M81719FP (pb free) +0.12/-0.25 BAES — 8P2S a
M81721FP (pb free) +1.0 B HF 2 A M E8iThEE 24P2Q ®
M81722FP (pb free) +3.0 8P2S [®)
M81723FP (pb free) +0.1 PR o = 1x2 . 16P2N ®
M81725FP (pb free) 600 43.0 5 FEQ 1 — 8P2S @)
M81731FP (pb free) - PR i = 1x2 16P2N ®
M81734FP__ *k (pbfree) v05 e 1 AEBRE — 8P2S [@)
M81735FP %% (pb free) - 2 WMAES B B BiThEE 16P2N ®
M81737FP %k (pbfree) +0.2 FAEE EMN 1x2 — —
M63958FP (pb free) 600 +0.5/-0.25 EX i — N EBIETE — 16P2N [6)
*ok  FFRH
B AERThEEHERE

s -

i M81709FP = . + (@) Ve

: DEL'IJ'¥CT :

| VReG HV L FILTER |

| LEVEL = =

| SHIFT 3 3 (E . :

| INTER| |

| Y- - ¢—{ LooK [ : (8 HO

HIN Vee —e, |

St W (5 |

| |

: Vs

| uv

| DETECT @ Vee

| FILTER |

I Vhea/ |_| J !

| RE( |

LIN @ ﬁ’ Vee DELAY |
P —

I Lo

| I

| |

| |

|

GND
oo -y, j@
_____________________________________________ |

53



it E=PEY

Transistor-Array

FR B FR S, MRS W LB, R

Wide Products Range Help Reduce Product Size and Weight

A VR I 31) 2 T 3 /0 FEL IS A R LIRS AR A T s ) ) e S A R L B
AXZ T i B H(S0mA~1.5A/35V~50V)) 2 8 B T & P&
[l R TSR 7 20 B 2R A= BN R R R R AT R

W A&

OITENHL A& FLALAE 0t 535 i 3K 5)

@145 AT EIAIL L AT B 45 S g Sk 3k 5

@ FFAH7HT EIAILEA T 378 . ECR A 2 K 4K 5

@& FhakHLay  BRERA  JHT, LED, 36 Bon

SERYEKB)

PEGRALE

4523 P
3823 FP
3803 KP

i

@ HfFFp - P/WP: DIPF
FP/GP/DP: SOP#
KP: SSOP#

L‘ £ B TS 2 0 4R L7 3 2R B e B A
——e ARRIFARRELE
@ ZEHRBK

35V 40V 50V

<O®M54513P/FP

A@M54580P/FP

<O®M81016P/FP/KP
<>®M81049P/FP/SP
O®M81302SP/FP * %

200mA

O@M63802P/FP/GP/KP
<O@M63803P/FP/GP/KP
<O@®M63805P/FP/KP
<O®M63806P/FP/KP
<O®M63807P/FP/KP
<O@M63813P/FP/GP/KP
<O®M63816P/FP/KP

A@M54561P

300mA

400mA

O®M54522P/FP
<O@M54530P/FP
O@M54531FP
O@OM54531WP * %

O@M54566WP *x
O@OM54566FP
<O®M54583P/FP

500mA

A®M63840P/FP/KP *

O@OM54523P/FP
A®M54562P/FP
A®M54563P/FP
A®M54564P/FP
O@®M54585WP * %
<O®M54585P/FP/KP
<O®M54587P/FP
A@M63800FP
O®M63820FP/KP
O@M63823P/FP/GP
O@OM63824GP/KP
O@M63826P/FP/GP
O@OM63827WP/DP
<SO@OM63828WP/DP
O@M63832GP/KP
<>@®M63834FP/KP
<O@®M63836FP/KP

1.5A

O@M54532P/FP
O@M54567P/FP
<O@M63830P/FP

O THA
A R
O : NEERRIME

54



55

R B

Transistor-Array

mIEE— MR
1) =] # ﬁtﬂ%;ﬁ W&EEE ﬁ)\ ] e 3k il 5 I, 'f&' VcE Eﬁ)\ 1]!&;:?.2 7 $7|\H2
B S Bl | v | s [BEPR BEAR BEESRE ) oy | mmes |vmmx| T P | se

M54513FP ° 20P2N ®
8 50 40 H Sink °

M54513P 18P4G ®

M54522FP ° 20P2N ®
8 | 400 40 H Sink ° °

M54522P 18P4G ®

M54523FP ° 16P2N ®
7 | 500 50 H Sink ° °

M54523P 16P4 ®

M54530FP ° 16P2N ®
7 | 400 40 H Sink ° °

M54530P 16P4 ®

M54531FP ° 16P2N ®
7 | 400 40 H Sink ° °

M54531WP ** 16P4X ®

M54532FP ° 16P2N ®
4 | 1500 50 H Sink ° °

M54532P 16P4 ®@

M54561P 7 300 40 L Source ) [ 16P4 @)

M54562FP ° 20P2N ®
8 500 50 H Source [} )

M54562P 18P4G ®

M54563FP ° 20P2N ®
8 500 50 H Source [} ®

M54563P 18P4G ®

M54564FP ° 20P2N ®
8 500 50 H Source [}

M54564P 18P4G ®

M54566FP ° 16P2N ®
7 | 400 50 L Sink °

M54566WP ** 16P4X ®

M54567FP ° 16P2N ®
4 | 1500 50 L Sink ° °

M54567P 16P4 ®

M54580FP ° 16P2N ®
7 150 50 L Source [}

M54580P 16P4 ®

M54583FP , ° 20P2N ®
8 | 400 50 L Sink °

M54583P 18P4G ®

M54585FP ° 20P2N ®

M54585KP ° 20P2E ®
8 | 500 50 H Sink ° °

M54585WP ** 18P4X

M54585P 18P4G ®

M54587FP ° 20P2N ®
8 | 500 50 L Sink ° °

M54587P 20P4 @

* %k FF &



a5

Transistor-Array

WIjRE—R&R

B8 |y RERRIMUSE) B en| anmns | sepoae | TV BEA | BE ) a p | R
M63800FP 7 | 500 | 50 H | Source ° . . e | 16P2N| 0
M63802FP e |16P2N| O
M63802GP B U y S . . e |16P2s| @
M63802KP e | 16P2z
M63802P 16P4 ®
M63803FP e | 16P2N| 0
M63803GP 21 a0 | as y S e |16P2s| @
M63803KP ° e | 16P2z
M63803P 16P4 ®
M63805FP e |20P2N|
M63805KP 8 | 300 | 35 H Sink ° ° e |2P2E| ®
M63805P 18P4G | @
M63806FP e |20P2N| ®
M63806KP 8 | 300 | 35 H Sink ° e | 20P2E| 0
M63806P 18P4G | O
M63807FP e |20P2N| ®
M63807KP 8 | 300 | 35 H Sink ° e |2P2E | ®
M63807P 18P4G | G
M63813FP e | 16P2N| 0
M63813GP 21 a0 | s y Sk . . e | 16P2s | @
M63813KP e | 16P2z
M63813P 16P4 ®
M63816FP e |20P2N| ®
M63816KP 8 | 300 | 35 H Sink . . e | 20P2E| 0
M63816P 18P4G ®
M63820FP _ e |20P2N| ®
M63820KP 8 | s00 | %0 H Sink * ° e | 20P2E| O
M63823FP e | 16P2N| 0
M63823GP 7 | 500 | 50 H Sink o . e | 16P2Ss | @
M63823P 16P4 ®
M63824GP -1 500 | o0 H S . . e |16P2s| @
M63824KP e | 16P2E
M63826FP e | 16P2N| 0
M63826GP 7 | 500 | 50 H Sink o . e | 16P2Ss | @
M63826P 16P4 ®
M63827WP _ 16P4X | ®

7 | 500 | 50 H Sink o .
M63827DP e | 16P2X
Me3828WP 7 | 500 | 50 H Sink ° ° 16P4X | ®
M63828DP e | 16P2X
M63830FP _ e |16P2N| ®
e 4 [1500 | 50 L Sink o ° opa =
M63832GP , e | 16P2s | @
7 | 500 | 50 L Sink °
M63832KP e | 16P2E
M63834FP o | 500 | 50 . S . e |20P2N| ®
M63834KP e |2P2E| ®
M63836FP , e |20P2N| ®
8 | 500 | 50 L Sink o °
M63836KP e | 20P2E| O
M63840FP * e |20P2N|
M63840KP * | 8 | 500 | 40 H |Source o . e |20p2F | ®
M63840P * 18P4G ®
3

*
i

10



57

a5

Transistor-Array

ECMOS-ARRAY
y o gy | AR | WILEBE | o s A 2 INEE

M81016P 20P4B ®

M81016FP ° 20P2N ®

M81016KP ° 20P2E ®
OCTAL D-TYPE FLIP-FLOP DRIVER WITH CLEAR

M81049P 20P4 @

8 | 200 40 Sink

M81049FP ° 20P2N ®

M81049SP 20P4B ®

M81302SP ** 20P4B ®
OCTAL INVERTER WITH OPEN-DREIN OUTPUTS

M81302FP ** ° 20P2N ®

* ok FFEH



. H VI C *ﬂ E-E 1*% IZE y“ 9]‘ J:I:é E High Voltage Integrated Circuits and Transistor-Array Outline Drawings

(#4i: mm)
@ TYPE 14P4  14pin 300mil DIP @ TYPE 20P4 20pin 300mil DIP
1902 24+0.2
i e e O i e O e W e T e O e e O e M s M e M
b o’ E o4
© ©
LI LTI LI LT L] I I LI LI LI T
= 7.62 = 7.62
f ECi I El =
‘ ‘ <9 — J | =2\ @ |
|| Ei 027 8% 3 Jooreg
| 2.54 I 0.5+0.1 i 0.5+0.1
1.5 %33 1.5 193
@ TYPE 16P4  16pin 300mil DIP @ TYPE 16P2N 16pin 300mil SOP
19402 10.1+0.1
el alatalalials) HAHHAAAA 7 i
D Ol 3 E .
© v ~
T oo O
4 7.62 HHEBEBEHHHH
| olof T / \
O @ | ] 2.1 5T
N [ \
oo}
= 028 ]
050 @ B 127 ||04%38 02708 ICET I
T +0.3 . a\
1.5 o1 Detail A !
@ TYPE 18P4G  18pin 300mil DIP @ TYPE 20P2N 20pin 300mil SOP
24+02 12.6+0.1
NANAANANA HAHHHHAHAARA ~ i
o’
E) S 2 2
SRV EVE RV R RS RY R O
- 7.62 HHEHHHBEHHEHE
[ \ Eff Fh [
‘ ‘ | 9O @ | l\ 2.1 5T
I | g t0.07 ) © %
6 020000 pryTa ) 0.22‘3:83E|:ljH 44 ©
2.54 | 050 127 || 04538 - S
12183 Detail A t

58



@

TYPE 36P2R-D  36pin 450mil SSOP

TYPE 16P2S 16pin 225mil SOP
.
1002 AARAAAARAAAAARRAAA
HHHHHAAEA <2 3o
™|+
3 0058 3 2l O F
O I & - O e
©
Y
HHEHEHEHEH G
o G 15.0+02 2 355F
o
1.98TF ‘2.05 0.1:0.1
[ \ o
e 2 01519 oS @S{E =
127 ||04788 219708 TR 010 5) i '
Detail A , 3 0.855F |-10-7 02488 uii
Detail G Detail FC>
TYPE 16P2Z 16pin 225mil SSOP @ TYPE 8P2S-A  8pin 225mil SOP
® ®
5+0.2 A HAARA
AAAAAAAR < 3 g
[aVAR S o
g 0.055E 2
O < a > ES
LLEEELELL )i 1.9F
A [}
P
1.95F
%) o
HHAAAAAL ~ +0.05 o5
065 0.22 832 015 “oce .00 ;'7 N
Detail A ' P L~
0.7455F |-19995  pepiig Detail F
@ TYPE 20P2E-A  20pin 225mil SSOP @ TYPE 10P2N-A 10pin 300mil SOP
TYPE 20P2F-A
. ®
HAHAAH
6.5+0.1 % S
I
RAAAAAAAAA 5|6 O
pa A10.1+01 3
o . - + HHHHH
6.8+
EEEEEEEEE! ASY G =
e 2 w = | 1.8 ,,0.1%01
45 1.07 0.4 fgiég @m o S
0 3 [— I | R
VAAAOAAAAAy +— METO%WJ, & = °
+0.10 o A H
0.65 0.22 —0.05 = 1 \
Detail A | EJ:LD M
1.01 4T 0.86 Detail G Detail F

59




(24 : mm)

@ TYPE 20P4B

20pin 300mil DIP

TYPE 16P2X

16pin 225mil SOP

-
@ c;'\ 9.91%811
NnAaNOnannnnn ":‘\
" HHHHHAHAHEA _
g y &
(:) © ’ 3 . o E
UUUUUUUTUY — HEHHEHHHEH
& 1’7
S
19.0+0.2
1
SEATING Lk ‘ ‘ @ 1.27 | 0.41i8:<1)s§ 2 23
,,,,,,, n@xl m— o] 0| @ 53
3% [NAE g Lo 5
0
1778 | 04801 | 10783 © 025
Detail A
TYPE 16P2E-A  16pin 225mil SSOP @ TYPE 24P2Q 24pin 300mil SSOP
® _
AAAAAAA
- o 10.1+0.1
3 < < @ ®
< © ©
(Sl | HAARAAAARAAH
o A - _ "
5 5.0+0.1 1.455F 5)‘ -
- B re
iimimimininig O . 0.6+0.2
1 +0.10
085 0222005 6 16 T HHEEHEEHEEHE Detail A
I710.1 54T 115, 0.1+04 © ® - g
H
o &
S )\ of S _°
a0 4 0010 3 ‘ e \J J
QAL \f\L to o‘ ,,,ﬁﬂ - I J
\ 0225 +008 ¥ ' 0.8 035855 ¢ /a 1.25
0.375 54T 0.1558% e 1 015 S
Detail B Detail A
@ TYPE 16P4X 16pin 300mil DIP TYPE 28X9R 28pin 450mil SSOP
19.15 1058
Slalalalatalals —1
# o 8 g 1 1 O i
Ol 3 2 8|y
o 5 53 O i
[P O I O N O oy =% o /
ss L Ly
T ‘ 2 g G 15.0+02 2.355F
95 ‘ ‘ \ K 2.05_0.1:0.1
@y T h A
- = T ®
: % G
0.405+0.155 - o0 7
| 1 254 I 0.46 +0.4 0.85 5T 0.7 0.2 -0.02 i
0.99703 152705 Detail G Detail F
0.99 1.52

60



61

(#4z2: mm)

TYPE 18P4X

16pin 300mil DIP

+0.16

22.96-0.25

Mrarrariririrm
el 9
gl S
O 0§
_Or N~
[N I I I O I O O 4
88
So
+ 1
[%e]
€8 S
s~ 1oL N
= TH 3
j‘EHii Q.
. ax
I 1064 0.46+0.1 0.56 013
T
1.5220%

[ 9.015+0.635






